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EE £RESR AN

20204
BIEIEE PM2.5
rsmosny | BFSmns | BFILAS lempmmicay| sapmmicsy
BIER ASBIERE | EHE(Lg/mY) . o | ueg/mERBR-A | LM TEmAT PETHE |5BTFHECERM
98%fB( 1 g/m”) 0 BOEZBIE B (4 g/m . 3
Ioxtd BES Hg/m°) 9841“_([1 g/m")
fo 362 7.6 22.7 1 0.3 7.6 22.7
)l 266 8.0 23.0 0 0.0 8.0 23.0
FE 361 8.7 22.3 1 0.3 8.7 22.3
EE 350 9.5 25.0 1 0.3 9.5 25.0
SEEN 359 6.4 20.1 1 0.3 6.4 20.1
EsE 364 5.6 18.8 0 0.0 5.6 18.8
[ BT 363 6.2 20.1 1 0.3 6.2 20.1
[ 362 6.7 19.9 2 0.6 6.7 19.9
PN 347 7.4 19.5 1 0.3 7.4 19.5
Bt 363 8.2 21.9 1 0.3 8.2 21.9




N FREFR mm
20204

AEEE: ox
O RHER | ENo BHER | ENoHIER | o TEmER EMOEBE R -
TR EMmEay | Emumsm | BMQUSMED )\ (oo Lazr | 0osromEEAT: |0.1200mEl LD R | 01200l LR | BEDIEMED | Sea iy | spamoom |SHMEEMAE | SEBBTME
F15{E(ppm) &= fE(ppm) B3 (ppm)
B# BRI % ® Gk (ppm)

L3 365 5434 0.029 15 77 0 0 0.076 0.039 0.065 361 0.069
a 365 5437 0.030 16 86 0 0 0.078 0.039 0.064 362 0.069]
=i 271 4033 0.028 13 62 0 0 0.077 0.038 0.066 269 0.070
| =& 364 5384 0.032 29 163 0 0 0.087 0.043 0.071 359 0.075]
B 365 5426 0.034 33 205 0 0 0.087 0.044 0.071 362 0.076
R T 363 5399 0.034 31 182 0 0 0.083 0.043 0.070 358 0.075]
EE]:] 365 5430 0.034 36 203 0 0 0.085 0.044 0.071 362 0.077
R 365 5428 0.033 34 196 0 0 0.087 0.042 0.071 362 0.075]
AR 365 5426 0.034 34 195 0 0 0.084 0.043 0.071 362 0.073
ESd 363 5385 0.034 30 177 0 0 0.088 0.044 0.070 358 0.074]
=i 365 5422 0.033 34 200 0 0 0.094 0.043 0.072 362 0.075
e 365 5424 0.029 24 107 0 0 0.081 0.040 0.065 362 0.069]
SEEN 363 5386 0.031 24 130 0 0 0.091 0.041 0.066 359 0.072
E%S 363 5383 0.031 22 156 0 0 0.084 0.041 0.069 359 0.073]
R 364 5407 0.030 25 135 0 0 0.094 0.040 0.071 360 0.072
i 365 5418 0.032 12 50 0 0 0.081 0.040 0.063 361 0.066|
HE 364 5408 0.032 14 54 0 0 0.078 0.041 0.063 361 0.068
RET 365 5429 0.033 22 101 0 0 0.078 0.042 0.065 362 0.073]
IS 365 5426 0.034 35 160 0 0 0.087 0.044 0.067 362 0.071
mE 363 5378 0.032 30 113 0 0 0.083 0.043 0.067 358 0.069]
= 361 5348 0.032 24 87 0 0 0.076 0.041 0.065 355 0.072
[-ES 364 5412 0.032 19 57 0 0 0.075 0.042 0.060 361 0.069]
|5 %7 365 5426 0.033 22 81 0 0 0.076 0.041 0.063 362 0.072
tdmH 365 5427 0.029 22 67 0 0 0.088 0.040 0.062 361 0.070]
£ 364 5407 0.034 26 94 0 0 0.079 0.042 0.064 358 0.072
AR 352 5196 0.030 24 87 0 0 0.084 0.042 0.065 345 0.069]
fo 365 5424 0.032 22 84 0 0 0.083 0.041 0.068 361 0.072
PRE 365 5438 0.033 29 123 0 0 0.084 0.043 0.068 363 0.075]
S 365 5440 0.031 31 123 0 0 0.085 0.042 0.068 363 0.075
2 365 5400 0.036 31 138 0 0 0.089 0.045 0.068 358 0.077




HN FR{EFHE mn

20204

BIEER: NMHC
B OIS T i A 8|6~ OB SRS b e o 2
- o - &n - s+ | 6~ OB SR £ 14| i AY0.20ppmC % B | 6 ~ O B 3B f] T 14| {E530.31ppmCE #2
AR MERE | Ffieme) | CoPRIEBTS |6 ommpmy |5 SROBMT 6~ SMIBMT Y 10 2000mCE #B| A1 EHMME~9 |{EA031ppmOE | A1-EHDE~9
X EREE 8 AT DE SR AT A-BH |BREBEMISHT|  AA%  |BAEBSHICHT

5EE 5EE

& 8639 0.10 0.11 363 0.40 0.00 28 7.7 4 1.1
BT 8618 0.07 0.08 365 0.25 0.03 3 0.8 0 0.0
BB 8633 0.07 0.08 355 0.68 0.00 4 1.1 3 0.8
B 8639 0.09 0.10 364 0.29 0.03 12 33 0 0.0
e 8643 0.07 0.07 364 0.37 0.02 i 0.3 i 0.3
SEEH 8639 0.08 0.08 364 0.44 0.02 11 3.0 1 0.3
BR; 8632 0.09 0.09 361 0.36 0.01 i 0.3 i 0.3
JRET 8563 0.07 0.08 360 0.37 0.00 14 39 2 0.6
BE 8642 0.05 0.05 363 0.17 0.00 0 0.0 0 0.0
K& 8317 0.05 0.07 350 0.27 0.00 70 2.9 0 0.0




HE FEESFR IR

20204
BIEEE: CH4

— . 6~9KICHITEHE — 6~ OB 3MEfE Ty |6 ~ ORF BRI T

= 2 3B T 14 {E ~OR%A oy b =

AIE R AIE R 5 f8(ppmC) t{E(ppmC) 6~ OFrAITE H 3 ED RS E(pmC) | {ED FIEE(ppmC)
=) 8639 1.98 2.00 363 2.19 1.85
EF 8618 1.98 2.00 365 251 1.85
BB 8633 1.92 1.95 355 253 1.79
B3a] 8639 1.95 1.97 364 2.50 1.79
e 8643 1.94 1.95 364 213 1.80
SEEN 8639 2.00 2.04 364 2.95 1.81

£iF 8632 1.95 1.96 361 2.10 1.81

[RHET 8563 1.95 1.96 360 2.22 1.82
BIE 8642 1.96 1.97 363 215 1.81
PN 8317 198 2.00 350 215 182




HE FEESFR IR

20204
BIEEE: THC

— . 6~9KICHITEHE — 6~ OB 3MEfE Ty |6 ~ ORF BRI T

Al B pl S T ¥4 {E ~ ORFHI = =

AIE R AIE R 5 f8(ppmC) t{E(ppmC) 6~ OFrAITE H 3 ED RS E(pmC) | {ED FIEE(ppmC)
=) 8639 2.08 211 363 254 1.89
EF 8618 2.05 2.08 365 261 1.93
BB 8633 1.99 2.02 355 2.66 1.81
B3a] 8639 2.04 2.08 364 273 1.84
e 8643 2.01 2.02 364 2.25 1.87
SEEN 8639 2.08 2.12 364 3.05 1.84

£iF 8632 203 2.05 361 2.39 1.90

[RHET 8563 2.03 2.04 360 2.38 1.87
BIE 8642 2.01 2.01 363 2.25 1.85
PN 8317 2.03 2.07 350 2.41 184




N FREFR mm
20204

BEHE: s02
BRAfE S| R | IR | mEoREE | AT a0 REE B ESEONR| ot sl | FECEEATS

. e . . 1858 fEAY0.1ppm Z-B5fEED = ;| 0.04ppm Zfz | 1BEEORSE B FHEORSE|B FIED2%FRST| 0.04ppm Z 1= | sH@EI B ¥ 15

AR FRMEEM | MERE | FOEem | cazremy [wERmmicdT| PR \ayommazal em (pprm) o) | BA2ELLEES | EA004ppmE

258 HI=53 2818 Ucenk® | ar-AH

Fa BT 363 8643 0.000 0 0.0 0 0.0 0.003 0.001 0.001 [e) 0
&#a 363 8665 0.000 0 0.0 0 0.0 0.005 0.001 0.001 [@) 0
EB 362 8600 0.001 0 0.0 0 0.0 0.007 0.002 0.001 [e) 0
E T 363 8650 0.000 0 0.0 0 0.0 0.006 0.002 0.001 [@) 0
BB 362 8682 0.000 0 0.0 0 0.0 0.003 0.002 0.001 [e) 0
=k) 362 8678 0.000 0 0.0 0 0.0 0.003 0.001 0.001 [@) 0
SEEN 362 8681 0.000 0 0.0 0 0.0 0.004 0.002 0.001 [e) 0
Fith 362 8677 0.000 0 0.0 0 0.0 0.005 0.001 0.001 [@) 0
HE 362 8679 0.000 0 0.0 0 0.0 0.004 0.001 0.001 [e) 0
R BT 359 8615 0.000 0 0.0 0 0.0 0.011 0.003 0.002 [@) 0
WE 362 8667 0.000 0 0.0 0 0.0 0.006 0.002 0.001 [e) 0
L% 362 8687 0.001 0 0.0 0 0.0 0.009 0.003 0.001 [@) 0
T 364 8664 0.001 0 0.0 0 0.0 0.016 0.002 0.002 [e) 0
E/H 365 8663 0.000 0 0.0 0 0.0 0.024 0.002 0.001 [@) 0
e 363 8629 0.000 0 0.0 0 0.0 0.030 0.003 0.001 [e) 0
T 365 8676 0.000 0 0.0 0 0.0 0.019 0.003 0.002 [@) 0
ER 362 8638 0.001 0 0.0 0 0.0 0.032 0.005 0.003 [e) 0
PN 347 8342 0.002 0 0.0 0 0.0 0.043 0.013 0.008 [@) 0
I 365 8673 0.001 0 0.0 0 0.0 0.056 0.006 0.005 [e) 0
Bt 363 8660 0.001 0 0.0 0 0.0 0.015 0.003 0.002 [@) 0
s 364 8715 0.001 0 0.0 0 0.0 0.014 0.004 0.003 [e) 0
s 364 8669 0.001 0 0.0 0 0.0 0.024 0.004 0.003 [@) 0
mE 364 8645 0.001 0 0.0 0 0.0 0.009 0.003 0.002 @] 0




N FREFR mm
20204

RIEEE: SPM
ERIEA TR AT . B EEA R R fg HERER [REEEORMN
AR 3805 B = 3 3 pin= | 0.20mg/mEHEZ 3y am= | 0.10mg/mZEHz | 1HMEEOKSIE |BENEOKSE B THED2RIY 010mg/m*eiBz | FHlil<k2 B Y
A5 B HBIE B A 7€ BF F19fE(mg/m°) 0.20?_%;?3?&%& el Y Nty 0.10mﬁ/én§»*ﬁx_ FRROEHEE (me/m®) (me/m®) {B(me/m® F-BA2E LLEE | EA0.10me/m'E

ikl GE (S SR - BT REE BLECLEOEE | #@21-H

FfT 361 8688 0.016 0 0.0 1 03 0.140 0.111 0.036 [e] 0
& 362 8696 0.009 0 0.0 0 0.0 0.115 0.090 0.024 [¢) 0
=11 362 8711 0.010 0 0.0 0 0.0 0.090 0.072 0.028 o 0
— A 361 8689 0.009 0 0.0 0 0.0 0.092 0.069 0.031 @) 0
HE 361 8649 0.012 0 0.0 0 0.0 0.123 0.099 0.031 O 0
Z T 361 8648 0.010 0 0.0 0 0.0 0.107 0.085 0.028 [e) 0
BB 148 3569 0.004 0 0.0 0 0.0 0.047 0.029 0.021 o 0
ETA 363 8709 0.009 0 0.0 0 0.0 0.102 0.071 0.027 [e) 0
i 362 8697 0.008 0 0.0 0 0.0 0.065 0.046 0.028 O 0
WE 362 8684 0.009 0 0.0 0 0.0 0.096 0.062 0.027 [e) 0
EEESN 363 8710 0.008 0 0.0 0 0.0 0.105 0.078 0.025 O 0
EEA 361 8683 0.009 0 0.0 0 0.0 0.082 0.063 0.025 [@) 0
R 363 8711 0.006 0 0.0 0 0.0 0.089 0.053 0.022 O 0
i 363 8711 0.009 0 0.0 0 0.0 0.105 0.080 0.030 [¢) 0
185 359 8646 0.014 0 0.0 0 0.0 0.104 0.095 0.035 O 0
RET 363 8712 0.010 0 0.0 0 0.0 0.082 0.063 0.028 [¢) 0
Y=} 362 8692 0.011 0 0.0 0 0.0 0.107 0.086 0.030 O 0
WE 363 8717 0.011 0 0.0 0 0.0 0.109 0.094 0.030 [e) 0
A 363 8709 0.008 0 0.0 0 0.0 0.097 0.072 0.027 O 0
[ 361 8677 0.008 0 0.0 0 0.0 0.095 0.068 0.026 [¢) 0
¥ 363 8710 0.010 0 0.0 0 0.0 0.100 0.058 0.031 O 0
EdmA 357 8578 0.009 0 0.0 0 0.0 0.060 0.049 0.026 [e) 0
B 362 8706 0.012 0 0.0 0 0.0 0.088 0.066 0.037 O 0
A 362 8690 0.019 0 0.0 0 0.0 0.115 0.087 0.042 [e) 0
AR 347 8341 0.016 0 0.0 0 0.0 0.108 0.092 0.036 O 0
Bt 363 8710 0012 0 0.0 0 0.0 0.105 0.091 0.030 [e) 0
hRE 362 8705 0.014 0 0.0 0 0.0 0.080 0.065 0.041 [e) 0
Ex] 362 8713 0.011 0 0.0 0 0.0 0.097 0.078 0.036 [0 0
= 363 8683 0.010 0 0.0 0 0.0 0.092 0.080 0.028 [e) 0

XAR B RRIE R H6, 0008 FIR B THY . BMRERELE>TVER Ao



R £MiEFE mn

20205
AEAR: No,
HFRER
1B flE£%0.20pm 1B fE%0.1ppm - BEHEH BEEH S T
- P e— e | 1RSI | BT SR 153450 200m | £8P | HEAC 00 |y ko pppii ey | BFIMEE oogopmetaara| oosemilk | COPMAL | peimpgm SEFECLSE
FUER ’ FUEEE e (opm) (ppm) E@AIHME | ARSI | Z RS T s o e OO EEAES o AEIE B 0060emBITOR | B LY, | osfE(pem) g
R 3 HIZH T 58S ISR BHE # kel A=
[SERET

363 8699 0.007 041 0.023 018|
362 8661 0.006 .037 0.024 .017
296 7114 0.004 035 0.023 017
362 8580 0.007 .054 0.021 .018
362 8578 0.006 051 0.019 016
363 8684 0.006 .049 0.019 .013
363 8679 0.004 034 0.016 011

362 8694 0.005 .052 0.037 .023
363 8686 0.003 027 0.009 007
362 8682 0.004 .027 0.013 .010
363 8687 0.004 028| 0.012 009
362 8648 0.004 .026 0.012 .009
363 8677 0.003 021 0.008 006
365 8667 0.006 .027 0.013 .011

364 8662 0.003 024 0.009 007
348 8320 0.006 .042 0.021 0. .015
365 8669 0.004 027 0.013 0. 009
365 8673 0.004 .034 0.016 0. .010
364 8672 0.004 027 0.012 0. 010
365 8656 0.003 018 0.010 0. 007




HE FEESFR IR

20204

BIEEE: NO
— P — — - 1IEMENRSE |[BFEBHENRSE| BHFHEDER
IEIJI:E% ;ﬁxj]/ﬂ'lfc' E ;& IEII;EE%FHEI :Fy']ﬁg(ppm) (ppm) (ppm) 98%1E(ppm)

AT 363 8699 0.002 0.054 0.014 0.007
Eo=) 362 8661 0.001 0.039 0.012 0.006
FE 362 8580 0.002 0.082 0.012 0.011
EF 362 8578 0.001 0.062 0.012 0.007
BB 363 8684 0.001 0.052 0.013 0.005
B3a] 363 8679 0.001 0.027 0.006 0.004
SEEN 362 8694 0.002 0.045 0.020 0.009
it 363 8686 0.000 0.011 0.002 0.001
HE 362 8682 0.001 0.020 0.004 0.002
[RHET 363 8687 0.000 0.025 0.004 0.002
BIE 362 8648 0.001 0.027 0.005 0.003
IS 363 8677 0.000 0.009 0.003 0.002
LtohE 365 8667 0.002 0.027 0.008 0.004
£l 364 8662 0.001 0.025 0.005 0.003
K& 348 8320 0.002 0.062 0.012 0.009
Bt 365 8669 0.001 0.025 0.005 0.003
=) 365 8673 0.001 0.027 0.005 0.004
B 364 8672 0.001 0.044 0.006 0.004
365 8656 0.001 0.031 0.004 0.003




EE £RESR AN

20204
BIEIEE NOX
= A = 3 3 5 - 1IKEECRSE B EHENRESE| BFHEDERM TiE
/«E\“EE ﬁ)‘j]/ﬁllﬂi H %I /ﬁ']iﬁﬁiﬁ :Fi’=]1IE(ppm) (ppm) (ppm) 98%1E(ppm) NOZ/(NO+N02)(%)
FaAT 363 8699 0.008 0.095 0.036 0.024 81.6
B 362 8661 0.007 0.061 0.036 0.021 81.3
=l 296 7114 0.005 0.077 0.030 0.021 83.4
B 362 8580 0.009 0.129 0.032 0.027 77.1
2T 362 8578 0.007 0.102 0.028 0.022 81.3
AE 363 8684 0.007 0.065 0.025 0.019 81.2
=Ea] 363 8679 0.005 0.059 0.020 0.015 79.0
SEEN 362 8694 0.007 0.086 0.057 0.031 75.8
$rth 363 8686 0.003 0.031 0.011 0.008 88.6
HE 362 8682 0.004 0.040 0.015 0.013 87.4
[RET 363 8687 0.004 0.047 0.014 0.010 88.5
BIE 362 8648 0.004 0.043 0.015 0.012 83.6
NS 363 8677 0.003 0.023 0.009 0.007 92.4
EhA 365 8667 0.008 0.042 0.017 0.015 77.2
£ 364 8662 0.004 0.047 0.015 0.008 69.7
KE 348 8320 0.008 0.093 0.031 0.024 80.0
Bt 365 8669 0.005 0.046 0.016 0.011 77.1
his 365 8673 0.005 0.053 0.019 0.014 77.9
B 364 8672 0.005 0.070 0.017 0.013 76.6
365 8656 0.004 0.042 0.013 0.009 80.1




2 BEREI
(N b+ RYE (p.61)

(2) HILZEAFFHE b (p.63)

(3) miE/KFE GEAZ vikibKE) (p.64)

4) mIEKF| (AB2 ) (p.66)

(6) miEKFR (ZRIEKKR) (p.67)

(6) ZER{EWRE (p.68)

() FwHKME (p.70)

8) BRI (ZEILER) (p.72)

9) ERERILY (—BEER) (p.74)

(10) ZEREIE® (p. 75)



BN FREZRFLEERETHE) AN

201645 E ~ 20205 E

BIFEIER: PM2.5 BAST 0.1 ¢g/m3
20164E/E [ 20174 E [ 2018FE | 2019F E | 2020F E | E B E| o E|RIEE

Eo=) 91 90 95 78 76 86 95 76
= — — 97 78 80 85 97 78
FE 101 99 103 90 87 96/ 103 87
=k 108 92 103 86 95 97] 108 86
SEER 96 81 83 58 64 76 96 58
EE3ES 79 77 78 61 56 70 79 56
JRET 80 74 76 64 62 71 80 62
BE 77 81 87 70 67 76 87 67
PN 85 89 90 72 74 82 90 72
Bt 89 84 88 81 82 85 89 81

EHE 90 85 90 74 74 82

Reib 108 99 103 90 95 108

=IE{E 77 74 76 58 56 56




Bl FREERFEEROE NN

20164F £ ~ 2020 E

BIFEIER: PM2.5 BAST 0.1 ¢g/m3

HIE B 20164E/E [ 20174 E [ 2018FE | 2019F E | 2020F E | ¥ E| o E|RIEE
Eo=) 202 226 268 206 2271  226] 268] 202
)l — — 269 211 230 2371 269] 211
FE 237 248 253 217 223]  236] 253 217
=k 269 224 257 220 250  244] 269 220
SEER 220 217 246 175 201 212  246] 175
BB 215 205 227 173 188] 202 227] 173
JRET 190 214 220 200 201  205] 220 190
BE 206 223 255 197 199] 216/ 255 197
PN 235 240 249 216 195]  227]  249] 195
Bt 225 226 242 232 219 229 242 219

EHE 222 225 249 205 213 223

Reib 269 248 269 232 250 269

=IE{E 190 205 220 173 188 173




BN FRERFELERBRROBRE1HEEOFHE mN

20165 E ~ 20205 %

AIFEIER: (0)¢ =Ry ppb

HIE D 20164EFE [ 201746/ [ 20184 /& | 20195 [ | 20205 E | HIE| RSB R/EE
L] 41 43 42 41 39 41 43 39
#8 42 44 43 41 39 42 44 39
&l 42 44 43 42 38 42 44 38
. I 44 45 46 44 43 44 46 43
FE 45 46 46 44 44 45 46 44
T 45 47 46 44 43 45 47 43
S 46 48 47 45 44 46 48 44
TiE 41 44 45 44 42 43 45 41
EEI 42 43 44 43 43 43 44 42
ENUS 45 46 45 45 44 45 46 44
| E550] 45 48 47 43 43 45 48 43
e 43 44 44 41 40 42 44 40
SEEWN 43 44 43 42 41 43 44 41
E%h 44 45 44 44 41 44 45 41
A= 44 45 43 42 40 43 45 40
#rith 42 43 43 40 40 42 43 40
HE 41 44 43 42 41 42 44 41
[ BT 44 46 44 44 42 44 46 42
NS 41 43 44 45 44 43 45 41
mE 44 45 44 43 43 44 45 43
= fif] 43 46 42 44 41 43 46 41
BE 42 46 46 44 42 44 46 42
[L%F 44 46 43 43 41 43 46 41
£ H 40 43 42 40 40 41 43 40
10 45 44 46 44 42 44 46 42
NG 44 45 43 43 42 43 45 42
Bt 44 44 44 43 41 43 44 41
FRE 45 46 46 46 43 45 46 43
RS 45 47 47 45 42 45 47 42
mE 47 52 49 47 45 48 52 45

T 43 45 44 43 42 44

=B 47 52 49 47 45 52

xIEE 40 43 42 40 38 38




BN FREZRFLEERETHE) AN

201645 E ~ 20205 E

BIFEIER: NMHC B 0.01 ppmC

BIER 20164E/E [ 20174 E [ 2018FE | 2019F E | 2020F E | E B E| o E|RIEE
Eo=) 16 19 16 11 10 14 19 10
BT 7 8 8 8 7 8 8 7
AE 8 9 9 9 7 8 9 7
=k 10 10 11 10 9 10 11 9
HE 7 8 9 6 7 7 9 6
SEER 9 9 8 7 8 8 9 7
EESES 7 7 6 8 9 7 9 6
[RET 8 6 6 6 7 7 8 6
BE 10 8 9 7 5 8 10 5
PN 8 7 6 5 5 6 8 5

EHE 9 9 9 8 7 8

el 16 19 16 11 10 19

=IE{E 7 6 6 5 5 5




HE FREERFELEROG~IKICHITHTHIE HE

20164F £ ~ 2020 E

BIFEIER: NMHC B 0.01 ppmC

BIER 20164EE | 20174FFE | 20184FE [ 20194E £ | 20204 B [F15{E =IEE
Eo=) 18 20 17 11 11 15 11
BT 8 9 9 8 8 8 8
AE 8 10 10 10 8 9 8
=k 12 12 12 11 10 11 10
HE 7 8 9 7 7 8 7
SEER 10 10 9 8 8 9 8
BB 8 8 7 9 9 8 7
[RET 8 7 7 7 8 7 7
BE 9 8 9 7 5 8 5
PN 10 9 8 7 7 8 7

THE 10 10 10 9 8 9

el 18 20 17 11 11

=IE{E 7 7 7 7 5 5




BN FREZRFLEERETHE) AN

20164F £ ~ 2020 E

BIEIER : CH4 B 0.01 ppmC

BIER 20164E/E [ 20174 E [ 2018FE | 2019F E | 2020F E | E B E| o E|RIEE
Eo=) 195 196 196 196 198] 196 198] 195
BT 195 195 196 198 198]  196] 198] 195
A8 191 194 193 193 192] 193] 194] 191
=k 190 189 189 188 195]  190] 195] 188
HE 192 190 191 192 194]  192] 194] 190
SEER 196 198 197 196 200 197] 200] 196
BB 191 192 191 194 195] 193]  195] 191
JRET 190 192 191 192 195]  192]  195] 190
BE 188 187 187 191 196] 190] 196] 187
PN 193 195 194 196 198] 195 198] 193

EHE 192 193 193 194 196] 193

Reib 196 198 197 198 200 200

=IEIE 188 187 187 188 192 187




BN FREZRFLEERETHE) AN

201645 E ~ 20205 E

BIFEIER: THC B 0.01 ppmC

BIER 20164E/E [ 20174 E [ 2018FE | 2019F E | 2020F E | E B E| o E|RIEE
5a 211 215 212 207 208]  211] 215] 207
BT 202 203 204 205 205] 204] 205 202
A8 198 203 202 202 199]  201] 203] 198
=k 201 199 199 198 204]  200] 204] 198
HE 198 198 200 198 201 199] 201 198
SEER 204 207 206 204 208] 206] 208] 204
BB 198 199 198 202 203] 200] 203] 198
JRET 198 198 197 198 203]  199] 203] 197
BE 198 196 196 198 201 198] 201 196
PN 200 202 200 201 203] 201 203] 200

EHE 201 202 201 201 204] 202

Reib 211 215 212 207 208 215

=IEIE 198 196 196 198 199 196




2020 & | H{E| &S 5| RIEME

20195

ppb

20185 &

BAfL:
20174

2016 5E &

S02

AE R

BN FREZRFLEERETHE) AN

20164EE ~ 20205 E
BIEIER :
FfT

i
ey liles
-
MHM
=| [ H |4 4o
A - A P | 20 |1 |~ | | = (S H £ o
HS |5 T [ e SR SR | 2 < | R < - - |

=)




2020 £ | H{E| &S 5| RIEME

20195

ppb

20185 &

BAfL:
20174

2016 5E &

S02

AE R

HE FREZFEIERCEFSME) AR
20164EE ~ 20205 E

BIFEIER:
Fa AT

i
ey liles
-
MHM
=| [ H |4 4o
A - A P | 20 |1 |~ | | = (S H £ o
HS |5 T [ e SR SR | 2 < | R < - - |

=)




EE FREEFELCRETHE AR
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HE FREEFEEILRQUERSME) ER

20164 ~ 20205 &

BIEIEE: SPM B3 1 g/m3

RIERD 20164 | 201746 | 20184 | 20195 | 20205 [FH | malE| xIEE
[Eal) 31 37 38 30 36 34 38 30

& 26 26 32 30 24 28 32 24

= 24 27 31 27 28 27 31 24
—AW 31 31 33 46 31 34 46 31
FE 33 33 35 34 31 33 35 31
2T 28 31 31 30 28 30 31 28
BB 28 24 27 34 21 27 34 21
ENUA 33 28 31 31 27 30 33 27
=5 33 26 32 27 28 29 33 26
HE 30 25 29 27 27 28 30 25
SEEW 27 27 27 27 25 27 27 25
=5 Pil 25 27 31 27 25 27 31 25
mEE 27 24 26 27 22 25 27 22
Frith 31 36 34 44 30 35 44 30
HE 29 35 38 36 35 35 38 29
[RET 20 24 29 29 28 26 29 20
N 34 32 37 39 30 34 39 30
WE 20 29 37 37 30 31 37 20
= [ 27 27 34 38 27 31 38 27
B 30 32 36 39 26 33 39 26
LEF 29 27 36 36 31 32 36 27
EfHA 24 27 30 25 26 26 30 24
£l 30 28 45 39 37 36 45 28
ER 36 37 45 43 42 41 45 36
PN 46 40 47 56 36 45 56 36
Bx 27 33 34 40 30 33 40 27
hRE 32 31 40 39 41 37 41 31
i 36 37 40 43 36 38 43 36
mE 28 27 35 39 28 31 39 27

EE 29 30 34 35 30 32

ReiE 46 40 47 56 42 56

=IE(E 20 24 26 25 21 20
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() FwaFKME (p.96)
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(10) ZEREIL® (p. 107)



HE AMESH AN

20204
BIEER: PM2.5
RS =) =
HIER EH 4H 58 6H 78 8H 98 10H 118 12H 1A 2H 38 At
#E5 AAIEB 30 31 30 29 31 30 31 30 31 31 27 31 362
EHIE(¢ g/m3) 7.2 8.7 8.7 5.2 11.6 48 6.6 7.8 5.1 6.8 78 10.4 76
BEHEDHSIE(L g/m3) 18.5 26.6 22.7 14.5 29.4 9.6 16.4 20.6 10.5 14.6 24.6 455 455
B F#HEAS5 4 g/m3ZEBX B 0 0 0 0 0 0 0 0 0 0 0 1 1
=i AAIE B 30 30 30 29 31 30 31 29 26 — - — 266
EHfE(¢ g/m3) 7.2 10.2 9.4 6.0 11.6 5.4 75 8.4 6.1 - - - 8.0
B¥EHEDHSIE(L g/m3) 19.8 26.3 241 13.3 30.0 10.4 17.5 20.8 15.5 - - — 30.0
B F#HEASS5 4 g/m3ZFBX B 0 0 0 0 0 0 0 0 0 — - — 0
8 ABIEB 30 31 28 31 31 30 31 30 31 29 28 31 361
FEHE(¢ g/m3) 8.7 10.0 10.4 6.7 12.3 7.0 7.8 8.7 5.5 71 8.2 114 8.7
B¥EHEDRSIE(L g/m3) 21.2 26.3 275 15.9 223 12.6 19.5 20.1 1.7 15.3 23.7 56.3 56.3
B F#HEASS5 4 g/m3ZEBX B 0 0 0 0 0 0 0 0 0 0 0 1 1
B3 ABIEB 30 19 30 31 28 30 31 30 31 31 28 31 350
FEfE(¢ g/m3) 6.7 11.6 11.9 8.5 15.9 8.4 8.8 9.2 6.0 8.0 8.7 1.7 9.6
BEHEDRSIE(L g/m3) 18.3 278 29.2 18.7 274 15.4 23.0 23.3 14.1 17.2 25.0 420 42.0
B F#HEAS5 4 g/m3ZFBX B 0 0 0 0 0 0 0 0 0 0 0 1 1
SEER ABIEB 30 31 30 31 27 28 31 30 31 31 28 31 359
FEfE(¢ g/m3) 5.8 7.2 6.8 48 8.9 4.6 5.6 6.0 3.5 6.3 8.4 9.2 6.4
BEHEDRSE(L g/m3) 18.1 24.8 14.5 12.8 16.5 10.7 17.8 17.3 10.2 25.2 255 40.0 40.0
B F#HEAS5 1 g/m3ZFBX B 0 0 0 0 0 0 0 0 0 0 0 1 1
GESES ABIEB 30 31 30 31 31 30 31 29 31 31 28 31 364
FEfE(¢ g/m3) 6.0 6.6 7.1 2.9 10.0 3.2 4.1 5.2 3.2 4.9 6.5 73 56
BEHEDRSIE(L g/m3) 15.8 21.3 20.9 10.0 245 8.5 11.6 17.0 9.2 14.3 21.3 28.8 28.8
B #HEAS5 1 g/m3ZEBX B 0 0 0 0 0 0 0 0 0 0 0 0 0
JRET ABIEB 30 31 30 31 31 28 31 30 31 31 28 31 363
FEHfE(¢ g/m3) 6.5 8.6 8.3 55 10.7 5.0 46 48 2.2 4.0 6.2 8.6 6.3
BEHEDRSIE(L g/m3) 15.3 25.4 20.1 10.2 25.8 10.7 15.4 12.4 5.5 12.3 20.9 423 423
B F#HEAS5 1 g/m3ZFBX B 0 0 0 0 0 0 0 0 0 0 0 1 1
HWE AAIEB 30 31 30 31 28 30 31 30 31 31 28 31 362
EHfE(¢ g/m3) 7.2 8.7 8.1 5.5 11.6 5.0 5.1 5.6 3.1 4.9 6.6 9.8 6.8
B¥EHEDHSIE(L g/m3) 17.9 30.5 20.9 11.2 29.9 12.0 17.1 14.4 6.8 12.8 19.9 46.6 46.6
B F#HEAS5 u g/m3ZFBX B 0 0 0 0 0 0 0 0 0 0 0 2 2
PNV ARIEBR 30 31 30 31 31 28 31 30 30 31 28 16 347
FEHfE(¢ g/m3) 7.1 9.3 8.9 6.4 10.4 5.8 6.1 7.2 45 5.3 73 123 76
BEHEDHSE(L g/m3) 16.6 28.8 19.6 11.3 19.8 10.0 16.0 18.0 8.8 12.5 223 39.4 39.4
B F#HEAS5 u g/m3ZFBX B 0 0 0 0 0 0 0 0 0 0 0 1 1
Bt AAIEBR 30 31 30 31 29 30 31 30 31 31 28 31 363
FEHfE(¢ g/m3) 7.5 9.8 10.3 8.1 12.6 7.4 7.5 7.7 46 5.7 7.0 9.9 8.2
BEHEDHEE(U g/m3) 18.7 30.3 21.9 12.8 245 12.3 20.3 18.8 8.2 13.9 20.0 439 439
HFEIEA35 U g/m3% B AT- HER 0 0 0 0 0 0 0 0 0 0 0 1 1




HE AMESH AN

20204
BIEER: OX
RS =) =
HIER EH 4H 58 6H 78 8H 98 10H 118 12H 1A 2H 38 At

FEHET B RIE B 3 30 31 30 31 31 30 31 30 31 31 28 31 365
2R i) iR 7 B 448 463 444 462 460 448 463 447 460 463 413 463 5434
8 7E B Rl 718 741 710 739 739 717 741 716 739 742 665 742 8709
F#91E(ppm) 0.039 0.036 0.030 0.018 0.020 0.020 0.018 0.017 0.017 0.024 0.034 0.037 0.026]
2R ] D 1 B T IE D T $4){iB (ppm) 0.042 0.039 0.034 0.020 0.026 0.023 0.022 0.020 0.018 0.027 0.036 0.039 0.029)
B D18 {EA%0.06ppmZRBZ B 6 4 3 0 0 0 0 0 0 0 1 1 15
R D 18R {EA%0.06ppmZ #B Z =B 5K 29 22 17 0 0 0 0 0 0 0 3 6 77
B D 1B {EAY0.1200m L E D HE 0 0 0 0 0 0 0 0 0 0 0 0 0
B D 18R {EA%0.12ppm BL_E DEERAEK 0 0 0 0 0 0 0 0 0 0 0 0 0
B ] D 1 B ] IE D = 7= 1B (ppm) 0.076 0.076 0.075 0.042 0.060 0.052 0.046 0.047 0.044 0.047 0.068 0.068 0.076]
BE D A &5 1 B E E D F #){E(ppm) 0.051 0.048 0.044 0.029 0.037 0.034 0.033 0.030 0.027 0.036 0.045 0.049 0.039)

#5 BRI E B 3 30 31 30 31 31 30 31 30 31 31 28 31 365
2R i) iR 7 B 447 462 446 463 460 448 463 448 463 463 412 462 5437
8 7E B Rl 712 737 709 737 735 714 736 714 737 738 658 737 8664
F #91E(ppm) 0.041 0.037 0.032 0.020 0.022 0.021 0.019 0.020 0.020 0.023 0.031 0.037 0.027
2R ] D 1 ¥ ] I D T $4){iB (ppm) 0.043 0.041 0.035 0.022 0.027 0.024 0.022 0.023 0.022 0.025 0.033 0.039 0.030)
B D 1B {EA%0.06ppmZ B Z =B 6 6 3 0 0 0 0 0 0 0 0 1 16
R D 1B {EA%0.06ppmZ#B X =B 5K 34 30 17 0 0 0 0 0 0 0 0 5 86
B D 18R {EA%0.1200m L E D H 3 0 0 0 0 0 0 0 0 0 0 0 0 0
R D 18R {EA%0.120pm BL_E D B3 0 0 0 0 0 0 0 0 0 0 0 0 0
B ] D 1 B ] IE D = 7= 1B (ppm) 0.076 0.074 0.078 0.046 0.059 0.052 0.045 0.050 0.038 0.044 0.057 0.067 0.078]
BRE D A = 1 B E E D F ) {B(ppm) 0.052 0.050 0.046 0.031 0.039 0.034 0.033 0.033 0.031 0.034 0.042 0.048 0.039)

Gl EGEEAEE 30 31 30 31 31 30 31 30 27 - - - 271
2R ] iR 7E B 448 463 447 463 460 448 463 448 393 - — - 4033
8 7E B Rl 713 738 713 737 735 713 738 714 628 - — - 6429
F #91E(ppm) 0.040 0.037 0.031 0.018 0.021 0.020 0.019 0.021 0.020 - - - 0.025]
2R ] D 1 B ] I D T $4){iB (ppm) 0.043 0.040 0.034 0.020 0.026 0.023 0.022 0.024 0.022 - - - 0.028]
B 1B {EA%0.060pmZ B Z B 6 4 3 0 0 0 0 0 0 - - - 13
R D 1B {EA%0.06ppmZ 4B X =B 5K 28 24 10 0 0 0 0 0 0 - - - 62
B D 18R {EA%0.1200m L E D H 3 0 0 0 0 0 0 0 0 0 - - - 0
B D 18R B A%0.120pm BL_E DEERAEK 0 0 0 0 0 0 0 0 0 - - - 0
2R ] D 1 B ] IE D = 7= 1B (ppm) 0.077 0.075 0.070 0.045 0.054 0.054 0.046 0.053 0.039 - - - 0.077
BRE D A &= 1 B E E D F ) {B(ppm) 0.051 0.049 0.045 0.028 0.037 0.033 0.034 0.034 0.032 - - - 0.038]

ZRH BRI E B 3 30 31 30 31 31 30 31 30 30 31 28 31 364
2R i) iR 7 B 448 463 429 463 455 448 463 448 426 462 416 463 5384
8 7E B Rl 718 742 699 742 734 718 742 718 687 741 667 742 8650
F #91E(ppm) 0.042 0.039 0.033 0.019 0.022 0.022 0.021 0.023 0.021 0.025 0.036 0.037 0.028]
2R ] D 1 B ] I D T $4){iB (ppm) 0.045 0.043 0.038 0.022 0.028 0.026 0.025 0.026 0.024 0.028 0.038 0.041 0.032]
B D18 {EA%0.06ppmZE B Z B 8 7 8 0 1 0 0 0 0 0 2 3 29
B D 1B {EA%0.06ppmZ#B Z =B 5K 44 41 53 0 2 0 0 0 0 0 10 13 163
B D 18R {EA%0.1200m L E D H 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
B D 18R B A%0.120pm BL_E DEFRAEK 0 0 0 0 0 0 0 0 0 0 0 0 0
2 ] D 1 B ] IE D = = 1B (ppm) 0.086 0.081 0.087 0.051 0.072 0.051 0.055 0.057 0.047 0.045 0.068 0.073 0.087
BRE D A & 1 B E D F ) {B (ppm) 0.055 0.053 0.047 0.032 0.042 0.037 0.038 0.038 0.036 0.038 0.046 0.050 0.043]




HE AMESH AN

20204
BIEER: OX
RS =) =
HIER EH 4H 58 6H 78 8H 98 10H 118 12H 1A 2H 38 At

8 BRI E B 3 30 31 30 31 31 30 31 30 31 31 28 31 365
2R ] iR 7 B 447 462 447 459 460 447 461 447 456 462 417 461 5426
8 7E B Rl 717 741 717 738 739 717 740 717 735 741 669 740 8711
F #91E(ppm) 0.044 0.042 0.036 0.021 0.025 0.023 0.024 0.025 0.025 0.027 0.036 0.041 0.031
2R ] D 1 B T B D T $4) {iB (ppm) 0.046 0.044 0.040 0.023 0.030 0.027 0.028 0.028 0.027 0.029 0.038 0.043 0.034
B D18 {EA%0.06ppmZ B Z =B 7 8 8 0 3 0 0 0 0 0 3 4 33
R D 18R {EA%0.06ppmZ#B Z =B 5K 43 55 62 0 12 0 0 0 0 0 14 19 205
B D 18 {EA%0.1200m L E D H 3 0 0 0 0 0 0 0 0 0 0 0 0 0
B D 18R {EA%0.12ppm BL_E DEERAEK 0 0 0 0 0 0 0 0 0 0 0 0 0
B ] D 1 B ] IE D = 7 1B (ppm) 0.078 0.081 0.087 0.055 0.072 0.060 0.052 0.055 0.043 0.055 0.068 0.075 0.087
BE D A &= 1 B E E D F ) {B(ppm) 0.055 0.054 0.051 0.034 0.043 0.038 0.039 0.038 0.037 0.038 0.046 0.051 0.044]

=T BRI E B 3 30 31 30 30 31 30 31 30 30 31 28 31 363]
2R i) iR 7E B 447 462 444 444 462 447 461 446 445 462 417 462 5399
8 7E B Rl 717 741 714 714 741 717 740 716 715 741 669 741 8666
F 91E(ppm) 0.045 0.043 0.036 0.022 0.026 0.025 0.025 0.026 0.025 0.026 0.036 0.040 0.031
2R ] D 1 ¥ ] I D T $4){iB (ppm) 0.046 0.045 0.040 0.025 0.030 0.028 0.028 0.028 0.027 0.028 0.037 0.041 0.034
B D 1B R EA%0.060pmZ B Z B 7 8 8 0 3 1 0 0 0 0 1 3 31
R D 1B {EA%0.06ppmZ#B X =B 5K 43 60 53 0 9 2 0 0 0 0 4 11 182)
R D 18R {EA%0.1200m L E D H 3 0 0 0 0 0 0 0 0 0 0 0 0 0
B D 1B {EA%0.120pm BL_E D B3R 0 0 0 0 0 0 0 0 0 0 0 0 0
2 ] D 1 B ] IE D = 7= 1B (ppm) 0.076 0.082 0.083 0.055 0.069 0.064 0.054 0.057 0.043 0.053 0.063 0.070 0.083]
BE D A = 1 B E E D F ) {B(ppm) 0.054 0.055 0.050 0.035 0.042 0.038 0.039 0.038 0.035 0.037 0.044 0.049 0.043]

B#0H BRI E B 3 30 31 30 31 31 30 31 30 31 31 28 31 365]
2R ] iR 7E B 446 462 447 457 462 447 462 447 459 462 417 462 5430
8 7E B Rl 716 741 717 736 741 717 741 717 738 741 669 741 8715
F #91E(ppm) 0.044 0.042 0.036 0.020 0.024 0.024 0.024 0.026 0.026 0.028 0.037 0.041 0.031
2R ] D 1 ¥ ] I D T $4){iB (ppm) 0.046 0.045 0.040 0.023 0.029 0.027 0.028 0.029 0.028 0.030 0.039 0.043 0.034
B D18 {EA%0.06ppmZE B Z B 7 10 9 0 2 1 0 0 0 0 3 4 36
B D 1B {EA%0.06ppmZ#B Z =B 5K 41 57 60 0 5 2 0 0 0 0 19 19 203
R D 1B {EA%0.1200m L E D HE 0 0 0 0 0 0 0 0 0 0 0 0 0
B D 1B B A%0.120pm BL_E DEERAEK 0 0 0 0 0 0 0 0 0 0 0 0 0
B ] D 1 B ] IE D = 7= 1B (ppm) 0.080 0.080 0.085 0.057 0.066 0.064 0.056 0.058 0.046 0.058 0.067 0.075 0.085]
BRE D A = 1 B E D F ) {B (ppm) 0.055 0.054 0.051 0.033 0.042 0.037 0.039 0.039 0.036 0.039 0.047 0.051 0.044]

£ BRI E B 3 30 31 30 31 31 30 31 30 31 31 28 31 365
2R ] iR 7 B 447 462 447 459 460 447 462 446 457 462 417 462 5428
B 7E B Rl 717 741 717 738 739 717 741 716 736 741 669 741 8713
F #91E(ppm) 0.045 0.042 0.035 0.020 0.024 0.023 0.024 0.026 0.025 0.026 0.036 0.039 0.030)
B ] D 1 B ] I D - $4){iB (ppm) 0.046 0.044 0.039 0.022 0.028 0.026 0.027 0.028 0.027 0.028 0.037 0.041 0.033]
B D 1B {EA%0.06ppmZE B Z B 8 10 7 0 2 1 0 0 0 0 3 3 34
B D 18R {EA%0.06ppmZ #B Z F- B R 5K 48 64 49 0 7 2 0 0 0 0 11 15 196)
B D 18 {EA%0.1200m L E D H 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
B D 18R {EA%0.120pm BL_E DEFRAEK 0 0 0 0 0 0 0 0 0 0 0 0 0
2 ] D 1 B ] IE D = 7= 1B (ppm) 0.077 0.082 0.087 0.051 0.066 0.062 0.053 0.059 0.042 0.048 0.063 0.070 0.087
BRE D A & 1 B E D F ) {B (ppm) 0.055 0.054 0.049 0.032 0.040 0.036 0.037 0.039 0.036 0.037 0.045 0.049 0.042]




HE AMESH AN

20204
BIEER: OX
RS =) =
HIER EH 4H 58 6H 78 8H 98 10H 118 12H 1A 2H 38 At

A BRI E B 3 30 31 30 31 31 30 31 30 31 31 28 31 365
2R ] iR 7 B 448 463 448 463 458 448 463 448 443 463 418 463 5426
8 7E B Rl 718 742 718 742 737 718 742 718 713 742 669 742 8701
F #91E(ppm) 0.046 0.041 0.036 0.021 0.025 0.021 0.022 0.025 0.024 0.028 0.037 0.042 0.031
2R ] D 1 B T B D T $4) {iB (ppm) 0.048 0.045 0.040 0.024 0.030 0.024 0.026 0.027 0.026 0.030 0.039 0.044 0.034
B D18 {EA%0.06ppmZ B Z =B 8 8 7 0 4 1 0 0 0 0 3 3 34
R D 18R {EA%0.06ppmZ#B Z =B 5K 47 56 52 0 5 1 0 0 0 0 16 18 195)
B D 18 {EA%0.1200m L E D HE 0 0 0 0 0 0 0 0 0 0 0 0 0
R D 18R {EA%0.12ppm BL_E DEERAEK 0 0 0 0 0 0 0 0 0 0 0 0 0
B ] D 1 B ] IE D = 7 1B (ppm) 0.074 0.084 0.084 0.053 0.066 0.061 0.050 0.058 0.044 0.047 0.068 0.073 0.084
B D A &= 1 B E E D F ) {B (ppm) 0.055 0.055 0.050 0.034 0.042 0.035 0.036 0.037 0.035 0.039 0.048 0.052 0.043]

E3 BRI E B 3 30 31 30 31 31 30 31 28 31 31 28 31 363
2R ] iR 7 B 448 463 448 463 463 442 463 396 455 463 418 463 5385
8 7E B Rl 718 742 718 742 742 712 742 639 734 742 666 742 8639
F #91E(ppm) 0.047 0.041 0.035 0.020 0.024 0.021 0.023 0.027 0.025 0.027 0.036 0.040 0.031
2R ] D 1 B ] I D T $4){iB (ppm) 0.049 0.045 0.039 0.023 0.030 0.025 0.027 0.030 0.028 0.029 0.038 0.043 0.034
B D 1B EEA%0.060pmZ B Z B 9 8 5 0 3 0 0 0 0 0 3 2 30
B D 1B {EA%0.06ppmZ#B Z =B 5K 55 54 35 0 7 0 0 0 0 0 12 14 177
B D 18R {EA%0.1200m L E D H 3 0 0 0 0 0 0 0 0 0 0 0 0 0
B D 1B {EA%0.120pm BL_E D B3 0 0 0 0 0 0 0 0 0 0 0 0 0
2 ] D 1 B ] IE D = 7= 1B (ppm) 0.080 0.088 0.086 0.057 0.080 0.056 0.050 0.059 0.046 0.046 0.065 0.071 0.088]
BE D A = 1 B E E D F ) {B(ppm) 0.057 0.054 0.049 0.033 0.045 0.036 0.038 0.040 0.038 0.039 0.047 0.050 0.044]

B BRI E B 3 30 31 30 31 31 30 31 30 31 31 28 31 365]
2R ] iR 7E B 448 463 448 463 458 448 463 447 440 463 418 463 5422
8 7E B Rl 718 742 718 742 737 718 742 717 710 742 670 742 8698
F #91E(ppm) 0.044 0.041 0.035 0.020 0.026 0.022 0.023 0.025 0.021 0.026 0.034 0.041 0.030)
2R ] D 1 ¥ ] I D T $4){iB (ppm) 0.047 0.045 0.039 0.023 0.032 0.025 0.027 0.028 0.025 0.028 0.037 0.043 0.033]
B D18 {EA%0.06ppmZE B Z B 6 9 7 0 6 1 0 0 0 0 2 3 34
R D 1B {EA%0.06ppmZ #B Z =B 5K 43 57 46 0 26 2 0 0 0 0 8 18 200
R D 18 {EA%0.1200m L E D H 3 0 0 0 0 0 0 0 0 0 0 0 0 0
BRI D 18R {EA%0.120pm BL_E DEERAEK 0 0 0 0 0 0 0 0 0 0 0 0 0
2R ] D 1 B ] IE D = 7= 1B (ppm) 0.074 0.092 0.094 0.045 0.079 0.063 0.050 0.058 0.044 0.047 0.064 0.072 0.094
BRE D A = 1 B E D F ) {B (ppm) 0.054 0.054 0.050 0.032 0.047 0.037 0.037 0.037 0.034 0.038 0.046 0.050 0.043]

e BRI E B 3 30 31 30 31 31 30 31 30 31 31 28 31 365
2R ] iR 7 B 448 463 448 463 462 443 463 448 442 463 418 463 5424
B 7E B Rl 718 742 718 742 741 713 742 718 712 742 670 742 8700
F #91E(ppm) 0.039 0.035 0.028 0.015 0.019 0.018 0.019 0.020 0.020 0.025 0.033 0.039 0.026]
B ] D 1 B ] I D - $4){iB (ppm) 0.043 0.040 0.033 0.018 0.025 0.021 0.023 0.024 0.023 0.027 0.036 0.041 0.030)
B D 1B {EA%0.06ppmZE B Z B 6 8 4 0 2 0 0 0 0 0 2 2 24
B D 18R {EA%0.06ppmZ #B Z F- B 5K 34 31 21 0 6 0 0 0 0 0 3 12 107
B D 18 {EA%0.1200m L E D H 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
B D 1B B A%0.120pm BL_E DEERAEK 0 0 0 0 0 0 0 0 0 0 0 0 0
2R ] D 1 B ] IE D = = 1B (ppm) 0.070 0.081 0.071 0.042 0.070 0.055 0.043 0.051 0.041 0.045 0.061 0.068 0.081
BRE D A & 1 B E D F ) {B (ppm) 0.052 0.051 0.044 0.027 0.038 0.031 0.035 0.036 0.034 0.037 0.045 0.050 0.040)




HE AMESH AN

20204
BIEER: OX
RS =) =
HIER EH 4H 58 6H 78 8H 98 10H 118 12H 1A 2H 38 At

SIEEN BRI E B 3 30 31 30 31 31 30 31 28 31 31 28 31 363
2R ] iR 7 B 448 463 448 463 463 442 463 396 456 463 418 463 5386
B B RS 718 742 718 742 742 712 742 639 735 742 670 742 8644
F #91E(ppm) 0.042 0.040 0.036 0.022 0.022 0.024 0.023 0.020 0.023 0.024 0.031 0.036 0.029)
2R ] D 1 B T B D T $4) {iB (ppm) 0.045 0.043 0.040 0.024 0.026 0.027 0.026 0.022 0.024 0.025 0.033 0.038 0.031
B D18 {EA%0.06ppmZ B Z =B 6 8 7 0 0 0 0 0 0 0 1 2 24
R D 18R {EA%0.06ppmZ#B Z =B 5K 40 39 45 0 0 0 0 0 0 0 3 3 130)
B D 18 {EA%0.1200m L E D HE 0 0 0 0 0 0 0 0 0 0 0 0 0
R D 18R {EA%0.12ppm BL_E DEERAEK 0 0 0 0 0 0 0 0 0 0 0 0 0
B ] D 1 B ] IE D = 7 1B (ppm) 0.076 0.073 0.091 0.058 0.059 0.046 0.043 0.050 0.040 0.041 0.063 0.065 0.091
B D A &= 1 B E E D F ) {B (ppm) 0.054 0.053 0.050 0.033 0.037 0.036 0.037 0.031 0.033 0.035 0.042 0.048 0.041

X% BRI E B 3 30 31 30 31 31 30 31 30 29 31 28 31 363
2R ] iR 7 B 448 463 448 463 463 441 463 447 407 459 418 463 5383
B B RS 718 742 718 742 742 711 742 717 659 738 670 742 8641
F #91E(ppm) 0.041 0.036 0.034 0.019 0.018 0.019 0.019 0.018 0.023 0.027 0.035 0.037 0.027
2R ] D 1 B ] I D T $4){iB (ppm) 0.045 0.042 0.040 0.023 0.023 0.024 0.023 0.021 0.025 0.028 0.036 0.040 0.031
B D 1B EEA%0.060pmZ B Z B 6 6 7 0 0 0 0 0 0 0 1 2 22
B D 1B {EA%0.06ppmZ#B Z =B 5K 47 36 56 0 0 0 0 0 0 0 7 10 156)
B D 18R {EA%0.1200m L E D H 3 0 0 0 0 0 0 0 0 0 0 0 0 0
B D 1B {EA%0.120pm BL_E D B3 0 0 0 0 0 0 0 0 0 0 0 0 0
2 ] D 1 B ] IE D = 7= 1B (ppm) 0.084 0.075 0.083 0.050 0.050 0.045 0.044 0.049 0.041 0.043 0.067 0.071 0.084
BE D A = 1 B E E D F ) {B(ppm) 0.055 0.053 0.050 0.031 0.035 0.034 0.036 0.032 0.032 0.036 0.045 0.051 0.041

EESES BRI E B 3 30 31 30 31 31 30 31 30 30 31 28 31 364
2R ] iR 7E B 448 463 448 463 457 447 463 448 426 463 418 463 5407
B B RS 718 742 718 742 736 717 742 718 687 742 670 742 8674
F #91E(ppm) 0.041 0.036 0.029 0.014 0.015 0.017 0.018 0.019 0.022 0.027 0.035 0.038 0.026]
2R ] D 1 ¥ ] I D T $4){iB (ppm) 0.046 0.042 0.035 0.017 0.020 0.020 0.022 0.022 0.025 0.029 0.037 0.041 0.030)
B D18 {EA%0.06ppmZE B Z B 7 7 6 0 0 0 0 0 0 0 3 2 25
R D 1B {EA%0.06ppmZ #B Z =B 5K 48 39 28 0 0 0 0 0 0 0 10 10 135)
B D 18 {EA%0.1200m L E D H 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
B D 1B B A%0.120pm BL_E DEERAEK 0 0 0 0 0 0 0 0 0 0 0 0 0
2R ] D 1 B ] IE D = 7= 1B (ppm) 0.082 0.076 0.094 0.051 0.051 0.044 0.044 0.054 0.040 0.042 0.067 0.066 0.094
BRE D A = 1 B E D F ) {B (ppm) 0.055 0.052 0.047 0.027 0.032 0.031 0.036 0.034 0.035 0.038 0.046 0.050 0.040)

it BRI E B 3 30 31 30 31 31 30 31 30 31 31 28 31 365
2R ] iR 7 B 448 463 448 463 458 448 463 448 444 454 418 463 5418
B 7E B Rl 718 742 718 742 737 718 742 718 714 733 669 742 8693
F #91E(ppm) 0.042 0.037 0.028 0.020 0.021 0.024 0.026 0.028 0.029 0.031 0.038 0.041 0.030)
B ] D 1 B ] I D - $4){iB (ppm) 0.044 0.039 0.031 0.022 0.025 0.026 0.028 0.029 0.029 0.032 0.039 0.042 0.032]
B D 1B {EA%0.06ppmZE B Z B 3 3 1 0 1 0 0 0 0 0 2 2 12)
B D 18R {EA%0.06ppmZ #B Z F- B 5K 21 10 1 0 2 0 0 0 0 0 4 12 50
B D 18 {EA%0.1200m L E D H 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
B D 18R {EA%0.120pm BL_E DEFRAEK 0 0 0 0 0 0 0 0 0 0 0 0 0
2 ] D 1 B ] IE D = 7= 1B (ppm) 0.081 0.065 0.061 0.045 0.070 0.047 0.048 0.053 0.045 0.049 0.062 0.070 0.081
BRE D A & 1 B E D F ) {B (ppm) 0.051 0.048 0.040 0.030 0.037 0.035 0.037 0.035 0.035 0.037 0.045 0.049 0.040)




HE AMESH AN

20204
BIEER: OX
RS =) =
HIER EH 4H 58 6H 78 8H 98 10H 118 12H 1A 2H 38 At

HE BRI E B 3 30 31 30 31 31 30 31 30 31 30 28 31 364
2R ] iR 7 B 448 463 448 463 462 442 463 448 463 427 418 463 5408
8 7E B Rl 718 742 718 742 741 712 742 718 742 688 669 742 8674
F #91E(ppm) 0.040 0.036 0.029 0.020 0.022 0.023 0.024 0.025 0.025 0.028 0.033 0.037 0.029)
2R ] D 1 B T B D T $4) {iB (ppm) 0.043 0.040 0.033 0.023 0.027 0.026 0.027 0.027 0.027 0.030 0.035 0.040 0.032]
B D18 {EA%0.06ppmZ B Z =B 3 5 3 0 1 0 0 0 0 0 0 2 14
R D 18R {EA%0.06ppmZ#B Z =B 5K 21 16 6 0 3 0 0 0 0 0 0 8 54
B D 18 {EA%0.1200m L E D HE 0 0 0 0 0 0 0 0 0 0 0 0 0
B D 18R {EA%0.120pm BL_E DEERAEK 0 0 0 0 0 0 0 0 0 0 0 0 0
B ] D 1 B ] IE D = 7 1B (ppm) 0.078 0.069 0.069 0.046 0.073 0.049 0.050 0.050 0.044 0.047 0.059 0.068 0.078]
BRE D A &= 1 B E E D F ) {B(ppm) 0.051 0.050 0.043 0.031 0.039 0.036 0.039 0.036 0.036 0.037 0.043 0.048 0.041

JRET BRI E B 3 30 31 30 31 31 30 31 30 31 31 28 31 365]
2R ] iR 7E B 448 463 448 463 463 444 463 448 462 446 418 463 5429
8 7E B Rl 718 742 718 742 742 714 742 718 741 716 670 742 8705
F 9B (ppm) 0.042 0.038 0.031 0.020 0.023 0.025 0.025 0.026 0.026 0.029 0.038 0.040 0.030)
2R ] D 1 ¥ ] I D T $4){iB (ppm) 0.045 0.042 0.036 0.023 0.029 0.028 0.029 0.028 0.028 0.031 0.039 0.043 0.033]
B D 1B EA%0.06ppmZ B Z B 6 5 3 0 3 0 0 0 0 0 3 2 22
R D 18R {EA%0.06ppmZ#B Z =B 5K 31 24 12 0 7 0 0 0 0 0 12 15 101
B D 18 {EA%0.1200m L E D H 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
B D 1B {EA%0.120pm BL_E DEERAEK 0 0 0 0 0 0 0 0 0 0 0 0 0
2 ] D 1 B ] IE D = 7= 1B (ppm) 0.078 0.074 0.073 0.056 0.077 0.052 0.049 0.052 0.045 0.048 0.065 0.073 0.078]
B D A = 1 B E E D F ) {B (ppm) 0.053 0.052 0.046 0.032 0.041 0.037 0.040 0.037 0.037 0.038 0.046 0.050 0.042]

=} BRI E B 3K 30 31 30 31 31 30 31 30 31 31 28 31 365
2R ] iR °E B 448 463 448 463 463 443 463 448 463 463 398 463 5426
8 7E B Rl 718 742 718 742 742 713 742 718 742 742 641 742 8702
F #91E(ppm) 0.043 0.040 0.033 0.023 0.026 0.024 0.023 0.024 0.023 0.028 0.037 0.039 0.030)
2R ] D 1 B ] I D T $4){iB (ppm) 0.048 0.045 0.038 0.026 0.032 0.028 0.027 0.027 0.025 0.030 0.038 0.043 0.034
B D18 {EA%0.06ppmZE B Z B 7 10 6 1 5 0 0 0 0 0 3 3 35
R D 18R {EA%0.06ppmZ #B Z F- B 5K 45 40 27 1 15 0 0 0 0 0 17 15 160)
B D 18R {EA%0.1200m L E D H 3 0 0 0 0 0 0 0 0 0 0 0 0 0
B D 18R {EA%0.120pm BL_E DEFRAEK 0 0 0 0 0 0 0 0 0 0 0 0 0
2R ] D 1 B ] IE D = 7= 1B (ppm) 0.083 0.079 0.077 0.068 0.087 0.050 0.048 0.054 0.046 0.044 0.067 0.071 0.087
BRE D A = 1 B E E D F ) {B (ppm) 0.057 0.055 0.050 0.036 0.047 0.037 0.040 0.038 0.035 0.038 0.046 0.051 0.044

WE BRI E B 3 30 31 30 31 31 30 31 30 31 29 28 31 363
2R ] iR 7E B 448 463 448 462 463 442 463 448 449 411 418 463 5378
8 7E B Rl 718 742 718 741 742 712 742 718 719 663 670 742 8627
F 91E(ppm) 0.041 0.036 0.028 0.018 0.020 0.021 0.021 0.023 0.024 0.029 0.037 0.039 0.028]
2R ] D 1 B ] I D T $4){iB (ppm) 0.046 0.042 0.034 0.021 0.028 0.025 0.024 0.027 0.027 0.032 0.039 0.043 0.032]
B D 1B {EA%0.06ppmZ B Z B 7 7 6 0 4 0 0 0 0 0 3 3 30
B D 1B {EA%0.06ppmZ#B Z =B 5K 26 31 13 0 10 0 0 0 0 0 17 16 113
B D 18R {EA%0.1200m L E D H 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
B D 1B {EA%0.120pm BL_E DEFRAEK 0 0 0 0 0 0 0 0 0 0 0 0 0
2 ] D 1 B ] IE D = 7= 1B (ppm) 0.080 0.079 0.071 0.054 0.083 0.051 0.046 0.056 0.044 0.046 0.068 0.074 0.083]
B E D A & 1 B E D F ) {B (ppm) 0.055 0.053 0.046 0.031 0.043 0.036 0.039 0.037 0.037 0.038 0.048 0.051 0.043]




HE AMESH AN

20204
BIEER: OX
RS =) =
HIER EH 4H 58 6H 78 8H 98 10H 118 12H 1A 2H 38 At

=E BRI E B 3 30 31 30 31 31 30 28 30 31 31 27 31 361
2R ] iR 7 B 448 463 448 463 463 441 402 448 459 463 387 463 5348
8 7E B Rl 718 742 718 741 742 711 649 718 738 742 621 742 8582
F #91E(ppm) 0.041 0.037 0.029 0.016 0.021 0.021 0.025 0.027 0.026 0.030 0.038 0.041 0.029)
2R ] D 1 B T B D T $4) {iB (ppm) 0.044 0.041 0.033 0.019 0.027 0.025 0.027 0.029 0.027 0.031 0.039 0.043 0.032]
B D18 {EA%0.06ppmZ B Z =B 6 6 3 0 2 0 0 0 0 0 3 4 24
R D 18R {EA%0.06ppmZ#B Z =B 5K 23 24 8 0 10 0 0 0 0 0 9 13 87
B D 18 {EA%0.1200m L E D H 3 0 0 0 0 0 0 0 0 0 0 0 0 0
B D 18R {EA%0.12ppm BL_E DEERAEK 0 0 0 0 0 0 0 0 0 0 0 0 0
B ] D 1 B ] IE D = 7 1B (ppm) 0.071 0.073 0.076 0.059 0.073 0.048 0.046 0.049 0.043 0.043 0.068 0.067 0.076]
BE D A &= 1 B E E D F ) {B(ppm) 0.052 0.051 0.044 0.029 0.040 0.034 0.037 0.037 0.034 0.037 0.045 0.050 0.041

[EES BRI E B 3 30 31 30 31 31 30 31 30 31 30 28 31 364
2R i) iR 7E B 448 463 448 463 458 448 463 448 463 429 418 463 5412
8 7E B Rl 718 742 717 742 737 718 742 718 742 690 669 742 8677
F 91E(ppm) 0.040 0.036 0.028 0.018 0.022 0.023 0.026 0.025 0.025 0.030 0.037 0.038 0.029)
2R ] D 1 ¥ ] I D T $4){iB (ppm) 0.043 0.040 0.033 0.020 0.028 0.026 0.028 0.027 0.027 0.031 0.039 0.041 0.032]
B D 1B R EA%0.060pmZ B Z B 5 6 1 0 3 0 0 0 0 0 3 1 19)
R D 1B {EA%0.06ppmZ#B X =B 5K 17 21 3 0 9 0 0 0 0 0 6 1 57
B D 18R {EA%0.1200m L E D H 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
B D 1B {EA%0.120pm BL_E DEERAEK 0 0 0 0 0 0 0 0 0 0 0 0 0
2 ] D 1 B ] IE D = 7= 1B (ppm) 0.068 0.075 0.074 0.048 0.074 0.050 0.049 0.053 0.043 0.047 0.067 0.063 0.075]
B D A = 1 B E E D F ) {B (ppm) 0.051 0.051 0.044 0.029 0.042 0.036 0.039 0.038 0.035 0.038 0.047 0.049 0.042]

L% BRI E B 3K 30 31 30 31 31 30 31 30 31 31 28 31 365
2R ] iR °E B 447 463 448 463 458 448 463 448 463 444 418 463 5426
8 7E B Rl 717 742 716 742 737 718 742 718 742 714 669 742 8699)
F #91E(ppm) 0.039 0.037 0.028 0.016 0.022 0.024 0.029 0.030 0.030 0.034 0.041 0.043 0.031
2R ] D 1 B ] I D T $4){iB (ppm) 0.041 0.041 0.033 0.019 0.028 0.027 0.031 0.031 0.031 0.035 0.042 0.044 0.034
B D18 {EA%0.06ppmZE B Z B 4 7 3 0 3 0 0 0 0 0 2 3 22
R D 18R {EA%0.06ppmZ#B Z =B 5K 14 26 8 0 9 0 0 0 0 0 8 16 81
B D 18R {EA%0.1200m L E D H 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
B D 18R {EA%0.120pm BL_E DEFRAEK 0 0 0 0 0 0 0 0 0 0 0 0 0
2R ] D 1 B ] IE D = 7= 1B (ppm) 0.066 0.076 0.069 0.050 0.072 0.048 0.047 0.051 0.043 0.045 0.067 0.071 0.076]
BRE D A = 1 B E E D F ) {B (ppm) 0.048 0.052 0.044 0.027 0.041 0.035 0.039 0.038 0.035 0.039 0.047 0.051 0.041

LA BRI E B 3 30 31 30 31 31 30 31 30 31 31 28 31 365)
2R ] iR 7E B 443 463 448 463 462 445 463 441 458 460 418 463 5427
8 7E B Rl 708 738 714 737 736 711 737 707 732 735 666 738 8659)
F 91E(ppm) 0.036 0.033 0.025 0.016 0.020 0.018 0.020 0.022 0.020 0.024 0.031 0.035 0.025]
2R ] D 1 B ] I D T $4){iB (ppm) 0.040 0.039 0.030 0.019 0.027 0.022 0.023 0.025 0.022 0.026 0.034 0.038 0.029
B D 1B {EA%0.06ppmZ B Z B 5 7 1 0 5 0 0 0 0 0 2 2 22
B D 1B {EA%0.06ppmZ#B Z =B 5K 17 25 2 0 15 0 0 0 0 0 5 3 67
B D 18R {EA%0.1200m L E D H 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
B D 1B {EA%0.120pm BL_E DEFRAEK 0 0 0 0 0 0 0 0 0 0 0 0 0
2 ] D 1 B ] IE D = 7= 1B (ppm) 0.066 0.079 0.064 0.060 0.088 0.046 0.043 0.054 0.041 0.052 0.075 0.064 0.088]
B E D A & 1 B E D F ) {B (ppm) 0.050 0.051 0.043 0.029 0.044 0.031 0.034 0.037 0.032 0.035 0.044 0.048 0.040)




HE AMESH AN

20204
BIEER: OX
RS =) =
HIER EH 4H 58 6H 78 8H 98 10H 118 12H 1A 2H 38 At

EAIT] BRI E B 3 30 31 30 31 31 30 31 30 31 30 28 31 364
2R ] iR 7 B 444 461 448 463 463 445 463 440 463 436 418 463 5407
8 7E B Rl 710 736 713 738 738 710 738 706 724 689 666 737 8605
F #91E(ppm) 0.042 0.038 0.029 0.018 0.023 0.023 0.028 0.028 0.028 0.032 0.039 0.042 0.031
2R ] D 1 B T B D T $4) {iB (ppm) 0.044 0.042 0.034 0.020 0.029 0.026 0.031 0.030 0.030 0.033 0.040 0.044 0.034
B D18 {EA%0.06ppmZ B Z =B 4 6 5 2 4 0 0 0 0 0 2 3 26
R D 18R {EA%0.06ppmZ#B Z =B 5K 19 30 14 2 8 0 0 0 0 0 6 15 94
B D 18 {EA%0.1200m L E D HE 0 0 0 0 0 0 0 0 0 0 0 0 0
R D 18R {EA%0.12ppm BL_E DEERAEK 0 0 0 0 0 0 0 0 0 0 0 0 0
B ] D 1 B ] IE D = 7 1B (ppm) 0.065 0.079 0.072 0.065 0.077 0.045 0.046 0.052 0.045 0.054 0.074 0.070 0.079)
B D A &= 1 B E E D F ) {B (ppm) 0.052 0.053 0.046 0.030 0.044 0.034 0.039 0.038 0.036 0.038 0.046 0.051 0.042]

PNV BRI E B 3 30 31 30 31 31 30 31 30 31 31 28 18 352]
2R ] iR 7 B 440 463 446 463 461 446 454 448 457 463 418 237 5196
8 7E B Rl 705 738 712 737 736 712 728 714 732 737 666 385 8302
F #91E(ppm) 0.040 0.036 0.029 0.018 0.021 0.023 0.024 0.022 0.021 0.025 0.032 0.038 0.027
2R ] D 1 B ] I D T $4){iB (ppm) 0.043 0.040 0.033 0.020 0.026 0.026 0.027 0.026 0.023 0.028 0.035 0.041 0.031
B D 1B EEA%0.060pmZ B Z B 6 6 3 0 3 0 0 0 0 0 2 4 24
B D 1B {EA%0.06ppmZ#B Z =B 5K 27 24 11 0 7 0 0 0 0 0 7 11 87
B D 18R {EA%0.1200m L E D H 3 0 0 0 0 0 0 0 0 0 0 0 0 0
B D 1B {EA%0.120pm BL_E D B3 0 0 0 0 0 0 0 0 0 0 0 0 0
2 ] D 1 B ] IE D = 7= 1B (ppm) 0.068 0.084 0.074 0.054 0.083 0.050 0.048 0.050 0.044 0.051 0.071 0.064 0.084
BE D A = 1 B E E D F ) {B(ppm) 0.053 0.054 0.046 0.030 0.043 0.035 0.039 0.037 0.034 0.037 0.046 0.050 0.042]

Bt BRI E B 3 30 31 30 31 31 30 31 30 31 31 28 31 365]
2R ] iR 7E B 442 462 447 461 457 447 461 441 462 463 418 463 5424
8 7E B Rl 708 736 713 736 731 713 735 707 737 737 666 738 8657
F #91E(ppm) 0.041 0.038 0.028 0.016 0.021 0.023 0.026 0.025 0.025 0.030 0.037 0.040 0.029)
2R ] D 1 ¥ ] I D T $4){iB (ppm) 0.043 0.042 0.033 0.018 0.027 0.026 0.029 0.027 0.027 0.031 0.038 0.042 0.032]
B D18 {EA%0.06ppmZE B Z B 2 9 4 0 3 0 0 0 0 0 2 2 22
R D 1B {EA%0.06ppmZ #B Z =B 5K 13 36 10 0 4 0 0 0 0 0 7 14 84
B D 18 {EA%0.1200m L E D H 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
B D 1B B A%0.120pm BL_E DEERAEK 0 0 0 0 0 0 0 0 0 0 0 0 0
2R ] D 1 B ] IE D = 7= 1B (ppm) 0.073 0.077 0.083 0.052 0.070 0.046 0.047 0.053 0.044 0.048 0.066 0.073 0.083]
BRE D A = 1 B E D F ) {B (ppm) 0.051 0.053 0.045 0.027 0.042 0.034 0.039 0.036 0.035 0.038 0.046 0.049 0.041

FRE BRI E B 3 30 31 30 31 31 30 31 30 31 31 28 31 365
2R ] iR 7 B 443 463 448 463 463 446 463 442 463 463 418 463 5438
B 7E B Rl 709 737 714 737 738 712 737 708 737 738 666 738 8671
F #91E(ppm) 0.042 0.037 0.029 0.018 0.022 0.024 0.027 0.025 0.025 0.030 0.036 0.041 0.030)
B ] D 1 B ] I D - $4){iB (ppm) 0.045 0.043 0.034 0.020 0.028 0.027 0.030 0.028 0.028 0.032 0.039 0.044 0.033]
B D 1B {EA%0.06ppmZE B Z B 6 7 4 0 6 0 0 0 0 0 2 4 29
B D 18R {EA%0.06ppmZ #B Z F- B 5K 35 30 8 0 13 0 0 0 0 0 12 25 123
B D 18R {EA%0.1200m L E D H 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
B D 18R B A%0.120pm BL_E DEFRAER 0 0 0 0 0 0 0 0 0 0 0 0 0
2R ] D 1 B ] IE D B 7= 1B (ppm) 0.071 0.084 0.078 0.057 0.077 0.048 0.049 0.053 0.045 0.051 0.078 0.074 0.084
BRE D A & 1 B E D F ) {B (ppm) 0.054 0.055 0.045 0.029 0.043 0.036 0.041 0.039 0.036 0.039 0.047 0.053 0.043]




HE AMESH AN

20204
BIEER: OX
RS =) =
HIER EH 4H 58 6H 78 8H 98 10H 118 12H 1A 2H 38 At

EES BRI E B 3 30 31 30 31 31 30 31 30 31 31 28 31 365
2R ] iR 7 B 444 463 448 463 463 448 463 442 463 462 418 463 5440
B B RS 710 738 713 738 737 714 738 707 737 737 666 737 8672
F #91E(ppm) 0.040 0.037 0.028 0.017 0.023 0.022 0.023 0.021 0.021 0.025 0.031 0.037 0.027
2R ] D 1 B T B D T $4) {iB (ppm) 0.044 0.042 0.034 0.020 0.030 0.025 0.026 0.025 0.024 0.028 0.034 0.041 0.031
B D18 {EA%0.06ppmZ B Z =B 6 8 6 0 7 0 0 0 0 0 1 3 31
R D 18R {EA%0.06ppmZ#B Z =B 5K 30 37 17 0 24 0 0 0 0 0 3 12 123
B D 18 {EA%0.1200m L E D H 3 0 0 0 0 0 0 0 0 0 0 0 0 0
B D 18R {EA%0.12ppm BL_E DEERAEK 0 0 0 0 0 0 0 0 0 0 0 0 0
B ] D 1 B ] IE D = 7 1B (ppm) 0.070 0.083 0.085 0.058 0.082 0.048 0.044 0.052 0.040 0.044 0.073 0.069 0.085]
BE D A &= 1 B E E D F ) {B(ppm) 0.053 0.055 0.048 0.030 0.048 0.034 0.037 0.036 0.033 0.036 0.044 0.050 0.042]

mE BRI E B 3 30 31 30 31 31 30 31 30 31 31 28 31 365
2R i) iR 7E B 440 462 447 463 463 446 462 443 436 461 418 459 5400
B E B RS 705 737 713 737 738 712 736 711 702 735 666 734 8626
F 91E(ppm) 0.045 0.042 0.034 0.022 0.025 0.027 0.030 0.030 0.025 0.030 0.037 0.041 0.032]
2R ] D 1 ¥ ] I D T $4){iB (ppm) 0.049 0.046 0.038 0.024 0.032 0.030 0.033 0.033 0.028 0.033 0.040 0.044 0.036]
B D 1B R EA%0.060pmZ B Z B 8 8 4 1 5 0 0 0 0 0 2 3 31
R D 1B {EA%0.06ppmZ#B X =B 5K 39 43 15 1 17 0 0 0 0 0 9 14 138
B D 18 {EA%0.1200m L E D H 3 0 0 0 0 0 0 0 0 0 0 0 0 0
B D 18R {EA%0.120pm BL_E DEERAEK 0 0 0 0 0 0 0 0 0 0 0 0 0
2] D 1 B ] IE D B 7 1B (ppm) 0.073 0.089 0.073 0.062 0.080 0.053 0.050 0.056 0.044 0.047 0.075 0.074 0.089)
B0 B x| B 1B 0 T F B (ppm) 0.057 0.057 0.048 0.034 0.046 0.039 0.044 0.042 0.036 0.039 0.047 0.052 0.045)




HE AMESH AN

20204

BIEER

HIER

#E

8639

NMHC
5H

B E B RS

F1#5{E(ppmC)

6~ 95+ 5T 1B (ppmC)

6~ 95iIE HE

6~ 95 3B Tt {E D f= = B (ppmC)

6~ 95 3B T 1 {E D m= (& B (ppmC)

6~ OFF SEF R 1 fEA0.20ppmCEREZ T- HE

6~ OFs SEF R F 1 fEA0.31ppmCERBEZ - HE

=T

7 e

8618

F#5{E(ppmC)

6~ 95+ 5T 1B (ppmC)

6~ 9KFiIE HE

6~ 95 3B T 1 {E D f= = B (ppmC)

6 ~ 9 3B ] T 91 O F (K {E (opmC)

6~ OF; SHF R 1 {EA0.20ppmCERBEZ 1= HE

6~ OFs SRF R 1 fEAY0.31ppmCERBEZ 1= HE

Bl

7 e

F1#5{E(ppmC)

6~ 95+ 5T 5 {BE(ppmC)

6~ 9K5iIE HE

6~ 95 3B T Y {E D iz = B (ppmC)

6 ~ 9 3B ] T 191 O F (K {E (opmC)

6~ OF; SR 1 fEA0.20ppmCEREZ 7= HE

6~ OFs SEF R F I fEA0.31ppmCERBEZ - HE

T e

F15{E(ppmC)

6~ 95+ 5T 1B (ppmC)

6~ 95 iIE B

6~ 95 3B T 1Y {E D f= = B (ppmC)

6~ QI 3B ] T 91 O F (K {E (opmC)

6~ OFs SEF R 1 fEA0.20ppmCEREZ T- HE

6~ OFs SRF R 1 fEA0.31ppmCERBEZ - HE

e

B TE B ]

8643

F1#5{E(ppmC)

6~ 95+ 5T 5 {BE(ppmC)

6~ 95 IE B3

6~ 95 3B T 1Y {E D f= = B (ppmC)

6~ 9 3B ] T 91 O F (K {E (opmC)

6~ OFs SHF R 1 fEA0.20ppmCEREZ 1= HE

6~ OBs SEF R F 1 fEA0.31ppmCEREZ - HE

REER

B TE B ]

F14{E(ppmC)

6~ 95+ 5T 1B (ppmC)

6~ 95 IE HE

6~ OB SEE I EDZE [E(ppmC)

6~ 9 3B ] T 91 O (K {E (opmC)

6~ OBs SEF R 1 {EA0.20ppmCEREZ 1= HE

6~ OFs SEF R 1 fEA0.31ppmCEREZ - HE




HE AMESH AN

20204
BIEER: NMHC
RS =) =
HIER EH 4H 58 6H 78 8H 98 10H 118 12H 1A 2H 38 R

GESES 8 7E B Rl 714 738 714 736 711 710 735 708 727 738 663 738 8632
F1#5{E(ppmC) 0.10 0.13 0.13 0.13 0.09 0.08 0.06 0.05 0.09 0.08 0.07 0.06 0.09
6~ 9RFIZH(+5 F191E(ppmC) 0.10 0.12 0.12 0.13 0.09 0.08 0.06 0.06 0.10 0.09 0.08 0.07 0.09
6~ ORF I E B3 30 31 30 31 30 30 31 30 29 31 27 31 361
6~ 95 3B T Y {E D F= = B (ppmC) 0.16 0.16 0.18 0.16 0.14 0.13 0.09 0.11 0.36 0.16 0.20 0.12 0.36
6~ 9§ 3B T 1 {E D i (& (B (ppmC) 0.07 0.08 0.08 0.09 0.06 0.05 0.01 0.02 0.04 0.05 0.04 0.03 0.01
6~ OFF SHF R F 1 {EA0.20ppmCEREZ 7= H 0 0 0 0 0 0 0 0 1 0 0 0 1
6~ OFs SEF R F 1 fEA0.31ppmCEREZ - HE 0 0 0 0 0 0 0 0 1 0 0 0 1

JRET 8 7E B Rl 713 738 713 738 738 689 736 711 718 667 666 736 8563
F13{E(ppmC) 0.07 0.08 0.07 0.07 0.06 0.05 0.08 0.10 0.07 0.09 0.08 0.07 0.07
6~ 9KFIZH(+5 F191E(ppmC) 0.06 0.07 0.08 0.07 0.07 0.05 0.09 0.10 0.09 0.11 0.10 0.07 0.08
6~ ORI B3 30 31 30 31 31 29 31 30 30 28 28 31 360)
6~ 9§ 3B T 1 {E D f= = B (ppmC) 0.10 0.14 0.24] 0.14 0.16 0.10 0.23 0.22 0.21 0.37 0.29 0.15 0.37
6~ 9§ 3B T 1 {E D i (& B (ppmC) 0.03 0.04 0.04 0.03 0.00 0.01 0.02 0.03 0.02 0.03 0.03 0.03 0.00]
6~ OF; SR 1 fEA0.20ppmCEREZ 1= HE 0 0 1 0 0 0 1 1 2 6 3 0 14
6~ OFs SRF R F 1 fEA0.31ppmCERBEZ - HE 0 0 0 0 0 0 0 0 0 2 0 0 2

[EES 8 7E B Rl 714 738 714 738 736 715 735 714 706 734 661 737 8642
F#5{E(ppmC) 0.03 0.05 0.06 0.06 0.08 0.05 0.04 0.05 0.04 0.04 0.04 0.03 0.05
6~ 9BFIZ8(+ 5 F #91E(ppmC) 0.02 0.05 0.06 0.06 0.07 0.05 0.04 0.04 0.04 0.04 0.04 0.04 0.05
6~ OB IE B3 30 31 30 31 31 30 31 30 30 31 27 31 363]
6~ 95 3B T 1 {E D f= = B (ppmC) 0.07 0.12 0.11 0.17 0.16 0.10 0.08 0.11 0.10 0.09 0.09 0.10 0.17
6~ 9§ 3B T 1 {E D m= (& B (ppmC) 0.00 0.01 0.03 0.01 0.04 0.02 0.02 0.01 0.01 0.02 0.02 0.02 0.00
6~ OFs SEF R 1 fEA0.20ppmCEREZ 7= HE 0 0 0 0 0 0 0 0 0 0 0 0 0
6~ OWs SRF R F 1 EA0.31ppmCERBZ - HE 0 0 0 0 0 0 0 0 0 0 0 0 0

pNE B 7E B Rl 712 737 711 737 736 705 737 712 731 738 660 401 8317
F15{E(ppmC) 0.04 0.07 0.04 0.04 0.04 0.05 0.05 0.07 0.07 0.06 0.07 0.05 0.05
6~ 9K IZH(+5 F191E(ppmC) 0.05 0.08 0.05 0.04 0.05 0.05 0.06 0.08 0.10 0.09 0.09 0.07 0.07
6~ OB IE B3 30 31 30 31 31 30 31 30 30 31 28 17 350)
6~ 95 3B T 1Y {E D f= = B (ppmC) 0.14 0.15 0.12 0.13 0.11 0.12 0.12 0.26 0.27 0.26 0.26 0.18 0.27
6~ 95 3B T 1 {E D m= & B (ppmC) 0.00 0.01 0.01 0.00 0.00 0.01 0.01 0.00 0.00 0.00 0.00 0.01 0.00
6~ Qs SR 1 {EA%0.20ppmCEREZ 7= HE 0 0 0 0 0 0 0 2 2 4 2 0 10
6~ O 3 Tal E B A'0.31ppmCZ RB A T- H 2 0 0 0 0 0 0 0 0 0 0 0 0 0




HE AMESH AN

20204
BIEER: CH4
RS =) =
HIER EH 4H 58 6H 78 8H 98 10H 118 12H 1A 2H 38 R
#5 8 7E B Rl 710 735 702 732 739 711 735 710 732 736 660 737 8639)
F1#5{E(ppmC) 1.95 1.94 1.96 1.95 1.96 1.96 1.98 2.02 2.01 2.02 2.03 1.99 1.98]
6~ 9KFIZH(+5 F191E(ppmC) 1.98 1.96 1.98 1.98 2.01 1.98 2.00 2.04 2.03 2.04 2.05 2.02 2.01
6~ ORFIE B3 30 31 30 31 31 30 31 30 30 31 27 31 363]
6~ 95 3B Tt {E D f= = B (ppmC) 2.06 2.04 2.12 2.19 2.16 2.10 2.04 214 2.10 2.15 2.13 2.08 2.19
6~ 9§ 3B T 1 {E D m= & (B (ppmC) 1.91 1.89 1.89 1.90 1.85 1.89 1.93 1.98 1.98 1.99 2.00 1.95 1.85
T 8 7E B Rl 706 734 706 733 734 708 734 710 733 733 653 734 8618
F1#5{E(ppmC) 1.97 1.93 1.99 2.00 1.96 1.95 1.98 1.99 1.99 2.00 2.00 1.98 1.98]
6~ 9KFIZH(+5 F191E(ppmC) 1.98 1.95 2.01 2.04 2.02 1.97 2.00 2.01 2.00 2.01 2.01 1.99 2.00
6~ ORI E B3 30 31 30 31 31 30 31 30 31 31 28 31 365)
6~ 95 3B T 1 {E D f= = B (ppmC) 2.03 2.00 2.23 2.51 2.27 2.10 2.08 2.09 2.08 2.05 2.07 2.08 2.51
6~ 9§ 3B T 1 {E D m= & (B (ppmC) 1.94] 1.91 1.88 1.89 1.85 1.85 1.93 1.95 1.96 1.97 1.97 1.93 1.85
B 8 7E B Rl 713 737 714 737 709 713 736 712 731 737 660 734 8633
F15{E(ppmC) 1.87 1.86 1.94 1.95 1.92 1.92 1.93 1.94 1.93 1.93 1.94 1.95 1.92)
6~ 9K IZH(+5 F91E(ppmC) 1.88 1.88 1.96 1.99 1.98 1.95 1.96 1.96 1.95 1.95 1.95 1.97 1.95]
6~ ORF I B3 30 31 30 30 29 30 29 30 29 31 25 31 355
6~ 95 3B T Y {E D f= = B (ppmC) 1.95 1.93 2.21 2.53 2.23 2.16 2.11 2.05 2.06 2.02 1.98 2.06 2.53
6~ 9§ 3B T 1 {E D m= (& B (ppmC) 1.86 1.84 1.82 1.80 1.79 1.80 1.84 1.87 1.90 1.90 1.89 1.86 1.79)
B 8 7E B Rl 714 737 714 734 714 711 737 709 732 737 664 736 8639
F15{E(ppmC) 1.90 1.89 1.95 1.93 1.98 1.89 1.92 1.94 1.99 2.01 2.02 1.98 1.95]
6~ 9B IZH(+5 F91E(ppmC) 1.91 1.90 1.97 1.96 2.02 1.92 1.94 1.95 2.02 2.05 2.06 2.00 1.98]
6~ 9K5iIE HE 30 31 30 31 30 30 31 30 31 31 28 31 364
6~ 95 3B T 1 {E D f= = B (ppmC) 1.94 1.95 2.14] 2.15 2.50 2.08 2.02 2.02 2.16 217 2.24 2.10 2.50
6~ 9§ 3B T 1 {E D m= & B (ppmC) 1.88 1.87 1.86 1.79 1.86 1.79 1.87 1.89 1.91 1.97 1.97 1.92 1.79)
e 8 7E B Rl 713 740 711 737 724 698 734 712 734 737 666 737 8643
F15{E(ppmC) 1.92 1.90 1.95 1.92 1.92 1.92 1.94 1.96 1.96 1.98 1.98 1.96 1.94
6~ 9BFIZ$(+5F #91E(ppmC) 1.92 1.90 1.98 1.94 1.95 1.93 1.96 1.96 1.96 1.97 1.98 1.97 1.95]
6~ 95 iIE B 30 31 30 31 31 29 31 30 31 31 28 31 364
6~ 95 3B T 1Y {E D f= = B (ppmC) 1.94 1.93 2.11 2.13 2.08 2.05 2.00 2.00 2.02 2.01 2.01 2.03 2.13
6~ 985 3B T 1 {E D i (& (B (ppmC) 1.88 1.86 1.86 1.80 1.81 1.80 1.89 1.93 1.92 1.94 1.95 1.86 1.80)
SEEW B 7E B Rl 714 738 710 735 738 684 737 714 731 738 663 737 8639)
F15{E(ppmC) 1.95 1.94 2.04 2.10 2.04 1.94 1.98 1.99 2.00 2.02 2.02 1.99 2.00
6~ 9BFIZ8(+5F #91E(ppmC) 1.96 1.95 2.10 217 2.21 1.95 1.99 2.01 2.01 2.03 2.03 2.01 2.04
6~ 95 iIE H 3 30 31 30 31 31 29 31 30 31 31 28 31 364
6~ 9BF 3B T 1 {E D f= = B (ppmC) 2.03 2.00 2.95 2.76 2.63 2.06 2.06 2.10 2.06 2.16 2.14 2.12 2.95
6~ 95 3B T 1 {E D i (& B (ppmC) 1.91 1.91 1.91 1.94 1.84 1.81 1.93 1.95 1.97 1.97 1.97 1.96 1.81
GESES B 7E B Pl 714 738 714 736 711 710 735 708 727 738 663 738 8632
F1#5{E(ppmC) 1.94 1.92 1.95 1.95 1.91 1.90 1.93 1.94 1.97 1.99 1.99 1.96 1.95]
6~ 9BFIZ$(+5F #91E(ppmC) 1.95 1.93 1.98 1.98 1.94 1.91 1.94 1.96 1.99 2.00 2.00 1.97 1.96)
6~ ORI E B3 30 31 30 31 30 30 31 30 29 31 27 31 361
6~ 95 3B T 1Y {E D f= = B (ppmC) 2.01 2.00 2.07 2.06 2.04 1.98 1.99 2.03 2.10 2.04 2.04 2.04 2.10
6~ 9BF 3B T 1 {E D F= (& B (ppmC) 1.91 1.89 1.88 1.90 1.83 1.81 1.86 1.88 1.92 1.96 1.95 1.91 1.81
JRET B 7E B Rl 713 738 713 738 738 689 736 711 718 667 666 736 8563
F15{E(ppmC) 1.92 1.92 1.94 1.97 1.94 1.92 1.95 1.94 1.97 1.99 1.99 1.98 1.95]
6~ 9BFIZ$(+5F #91E(ppmC) 1.93 1.93 1.95 1.99 1.96 1.93 1.96 1.94 1.97 1.99 2.00 1.98 1.96)
6~ ORI E B3 30 31 30 31 31 29 31 30 30 28 28 31 360)
6~ 9BF 3B T 1 {E D f= = B (ppmC) 1.96 1.97 2.02 2.22 2.19 2.07 2.02 1.98 2.03 2.01 2.03 2.03 2.22
6~ 9§ 3B T 1 {E D F= & (B (ppmC) 1.87 1.88 1.89 1.88 1.85 1.82 1.88 1.86 1.89 1.97 1.96 1.94 1.82)




HE AMESH AN

20204
BIEER: CH4
RS =) =
HIER EH 4H 58 6H 78 8H 98 10H 118 12H 1A 2H 38 R
[EES 8 7E B Rl 714 738 714 738 736 715 735 714 706 734 661 737 8642
F1#5{E(ppmC) 1.96 1.93 1.96 1.97 1.93 1.93 1.96 1.96 1.98 2.00 2.00 1.97 1.96)
6~ 9RFIZH(+5 F191E(ppmC) 1.96 1.94 1.97 1.98 1.95 1.93 1.96 1.97 1.98 2.00 2.00 1.98 1.97
6~ ORF I E B3 30 31 30 31 31 30 31 30 30 31 27 31 363]
6~ 95 3B T Y {E D F= = B (ppmC) 2.03 2.00 2.08 2.15 2.10 1.98 2.01 2.00 2.04 2.03 2.05 2.11 2.15
6~ 9§ 3B T 1 {E D m= & (B (ppmC) 1.92 1.88 1.89 1.88 1.85 1.81 1.90 1.90 1.92 1.94 1.94 1.92 1.81
pE 8 7E B Rl 712 737 711 737 736 705 737 712 731 738 660 401 8317
F#5{E(ppmC) 1.97 1.97 1.97 1.94 1.93 1.94 2.00 2.02 2.01 2.02 2.03 1.98 1.98]
6~ 9KFIZH(+5 F191E(ppmC) 1.98 1.98 1.99 1.96 1.96 1.95 2.01 2.03 2.04 2.03 2.04 2.00 2.00
6~ 9FiIE HE 30 31 30 31 31 30 31 30 30 31 28 17 350
6~ 95 3B T 1 {E D iz = B (ppmC) 2.02 2.06 2.14] 2.12 2.10 2.02 2.09 212 2.14 2.11 2.15 2.04 2.15
6~ O S F I 1B ) Bx 1 {8 (ppmC) 191 193 1.90 1.87 189 1.82 1.94 1.92 198 197 194 1.90 1.82




HE AMESH AN

20204
BIEER: THC
RS =) =
HIER EH 4H 58 6H 78 8H 98 10H 118 12H 1A 2H 38 R
#5 8 7E B Rl 710 735 702 732 739 711 735 710 732 736 660 737 8639)
F1#5{E(ppmC) 2.07 2.11 2.04 2.08 2.03 2.04 2.05 217 2.11 2.13 2.15 2.05 2.09
6~ 9KFIZH(+5 F191E(ppmC) 2.09 2.12 2.06 2.10 2.08 2.07 2.08 2.21 2.13 2.16 2.18 2.10 2.12
6~ ORFIE B3 30 31 30 31 31 30 31 30 30 31 27 31 363]
6~ 95 3B Tt {E D f= = B (ppmC) 2.29 2.27 2.32 2.33 2.35 223 2.19 254 2.30 2.43 2.33 2.29 2.54
6~ 9§ 3B T 1 {E D m= & (B (ppmC) 2.01 2.02 1.92 1.97 1.89 1.94 1.96 2.00 2.01 2.01 2.05 1.98 1.89
T 8 7E B Rl 706 734 706 733 734 708 734 710 733 733 653 734 8618
F1#5{E(ppmC) 2.02 1.99 2.06 2.08 2.05 2.03 2.06 2.07 2.06 2.07 2.06 2.04 2.05
6~ 9KFIZH(+5 F191E(ppmC) 2.03 2.01 2.08 2.13 2.12 2.05 2.09 2.09 2.09 2.10 2.09 2.07 2.08
6~ ORI E B3 30 31 30 31 31 30 31 30 31 31 28 31 365)
6~ 95 3B T 1 {E D f= = B (ppmC) 2.16 2.12 2.32 2.61 2.39 2.19 2.27 2.33 2.27 2.25 2.25 222 2.61
6~ 9§ 3B T 1 {E D m= & (B (ppmC) 1.98 1.96 1.96 1.97 1.93 1.93 1.98 2.00 2.00 2.00 2.01 1.98 1.93
B 8 7E B Rl 713 737 714 737 709 713 736 712 731 737 660 734 8633
F15{E(ppmC) 1.90 1.91 1.99 2.00 1.98 1.99 2.01 2.02 2.02 2.02 2.01 2.05 1.99)
6~ 9BFIZ$(+ 5 F #91E(ppmC) 1.90 1.92 2.02 2.04 2.04 2.02 2.04 2.04 2.05 2.09 2.03 2.07 2.02
6~ ORF I B3 30 31 30 30 29 30 29 30 29 31 25 31 355
6~ 95 3B T Y {E D f= = B (ppmC) 2.04] 2.02 2.27 2.66 2.31 2.26 2.28 2.25 2.21 2.63 2.14 2.23 2.66
6~ 9§ 3B T 1 {E D m= (& B (ppmC) 1.87 1.87 1.89 1.85 1.81 1.86 1.90 1.94 1.95 1.95 1.95 1.93 1.81
B 8 7E B Rl 714 737 714 734 714 711 737 709 732 737 664 736 8639
F15{E(ppmC) 1.97 1.97 2.03 2.01 2.10 1.99 2.02 2.03 2.10 2.11 2.10 2.05 2.04
6~ 9B IZH(+5 F91E(ppmC) 1.98 1.98 2.05 2.05 2.14 2.02 2.06 2.06 2.14 2.18 2.18 2.08 2.08
6~ 9K5iIE HE 30 31 30 31 30 30 31 30 31 31 28 31 364
6~ 95 3B T 1 {E D f= = B (ppmC) 2.04 2.14 2.25 2.28 2.73 225 2.29 222 2.41 2.46 2.47 2.26 2.73
6~ 9§ 3B T 1 {E D m= & B (ppmC) 1.92 1.92 1.93 1.84 1.97 1.88 1.94 1.96 1.97 2.02 2.04 1.99 1.84
e 8 7E B Rl 713 740 711 737 724 698 734 712 734 737 666 737 8643
F15{E(ppmC) 1.96 1.95 2.03 2.00 2.04 2.02 2.01 2.03 2.02 2.04 2.03 2.02 2.01
6~ 9BFIZ$(+5F #91E(ppmC) 1.96 1.95 2.05 2.02 2.06 2.03 2.02 2.04 2.03 2.04 2.04 2.03 2.02
6~ 95 iIE B 30 31 30 31 31 29 31 30 31 31 28 31 364
6~ 95 3B T 1Y {E D f= = B (ppmC) 2.00 2.00 2.19 2.23 2.20 225 2.09 2.10 2.11 2.09 2.09 2.13 2.25
6~ 985 3B T 1 {E D i (& (B (ppmC) 1.93 1.90 1.93 1.87 1.91 1.90 1.94 2.00 1.98 1.99 1.99 1.92 1.87
SEEW B 7E B Rl 714 738 710 735 738 684 737 714 731 738 663 737 8639)
F15{E(ppmC) 2.01 2.00 2.10 2.18 2.11 2.01 2.05 2.09 2.08 2.11 2.12 2.06 2.08
6~ 9BFIZ8(+5F #91E(ppmC) 2.03 2.02 2.17 2.25 2.29 2.03 2.07 2.11 2.10 2.14 2.15 2.09 2.12
6~ 95 iIE H 3 30 31 30 31 31 29 31 30 31 31 28 31 364
6~ 9BF 3B T 1 {E D f= = B (ppmC) 2.15 2.08 3.05 2.83 2.74 2.39 2.16 234 2.30 2.41 2.43 2.32 3.05
6~ 95 3B T 1 {E D i (& B (ppmC) 1.96 1.96 1.98 2.00 1.90 1.84 1.98 1.98 1.99 2.01 2.02 1.99 1.84
GESES B 7E B Pl 714 738 714 736 711 710 735 708 727 738 663 738 8632
F1#5{E(ppmC) 2.04 2.05 2.08 2.08 2.00 1.98 1.98 2.00 2.06 2.07 2.06 2.03 2.04
6~ 9BFIZ$(+5F #91E(ppmC) 2.05 2.05 2.10 2.10 2.03 1.99 2.00 2.02 2.09 2.09 2.08 2.04 2.05
6~ ORI E B3 30 31 30 31 30 30 31 30 29 31 27 31 361
6~ 95 3B T 1Y {E D f= = B (ppmC) 2.16 2.13 2.22 2.19 2.13 2.07 2.05 2.10 2.39 217 2.23 2.13 2.39
6~ 9BF 3B T 1 {E D F= (& B (ppmC) 1.99 1.97 2.00 2.02 1.90 1.90 1.93 1.94 2.01 2.02 2.02 1.98 1.90)
JRET B 7E B Rl 713 738 713 738 738 689 736 711 718 667 666 736 8563
F15{E(ppmC) 1.99 1.99 2.01 2.04 2.01 1.98 2.03 2.04 2.04 2.08 2.07 2.04 2.03
6~ 9BFIZ$(+5F #91E(ppmC) 1.99 2.00 2.02 2.06 2.03 1.98 2.04 2.04 2.06 2.11 2.10 2.05 2.04
6~ ORI E B3 30 31 30 31 31 29 31 30 30 28 28 31 360)
6~ 9BF 3B T 1 {E D f= = B (ppmC) 2.03 2.11 2.20 2.34 2.29 213 2.22 2.20 2.24 2.38 2.31 2.15 2.38
6~ 9§ 3B T 1 {E D F= & (B (ppmC) 1.92 1.93 1.94 1.94 1.87 1.88 1.91 1.95 1.93 2.02 2.00 1.99 1.87




HE AMESH AN

8642

2.01

THC
5H
B E B RS
F1#5{E(ppmC)
6~ 9RFI= &+ 5T 1B (ppmC)
6~ 95iIE B3

363

6~ 95 3B T Y {E D F= = B (ppmC)

2.25

6~ 9§ 3B T 1 {E D m= & (B (ppmC)

20204

RIEIEE:
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HE AMESH AN

20204
BIEER: S02
RS =) =
HIER EH 4H 58 6H 78 8H 98 10H 118 12H 1A 2H 38 At

FaHET ABIEBR 30 31 29 31 31 30 31 30 31 31 27 31 363
B E B RS 712 736 698 733 737 711 736 711 736 737 660 736 8643
F 915 (ppm) 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000
1 BFREE AY0.1ppmZ #2 2 1= BRI 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
B FEHfEA%0.04ppmZEHE % 1= HE 0 0 0 0 0 0 0 0 0 0 0 0 0
1 B ] IE D 2= = (B (ppm) 0.001 0.002 0.003 0.001 0.003 0.001 0.001 0.001 0.002 0.002 0.002 0.001 0.003]
B £ #1E D 5 = fE (ppm) 0.001 0.001 0.001 0.001 0.001 0.000 0.001 0.001 0.000 0.001 0.001 0.001 0.001

#5 ABIE B 30 31 28 31 31 30 31 30 31 31 28 31 363
B B RS 717 740 703 737 737 714 735 713 737 736 660 736 8665
F #3915 (ppm) 0.000 0.000 0.001 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000
1 BFREEAY0.1ppmZ #2 2 1= BRI 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
B FEHfEA0.04ppmZE B % 1= HE 0 0 0 0 0 0 0 0 0 0 0 0 0
1 B 1 IE D 2= = {B (ppm) 0.002 0.002 0.005 0.001 0.003 0.001 0.001 0.001 0.001 0.002 0.001 0.001 0.005]
B F #1E D 5 = fE (ppm) 0.001 0.001 0.001 0.000 0.001 0.000 0.000 0.001 0.000 0.000 0.001 0.001 0.001

8 ABIEB 30 30 30 31 31 30 29 30 31 31 28 31 362
B B RS 711 730 711 735 734 711 691 712 734 735 663 733 8600
F 915 (ppm) 0.000 0.001 0.001 0.001 0.001 0.001 0.001 0.000 0.000 0.001 0.000 0.001 0.001
1 BFREE HY0.1ppmZ #8 2 1= B 1 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
B FEHfEA0.04ppmZE B % 1= HE 0 0 0 0 0 0 0 0 0 0 0 0 0
1 B ] IE D £ = (B (ppm) 0.002 0.002 0.002 0.002 0.007 0.002 0.004 0.004 0.002 0.003 0.003 0.002 0.007
B - #1E D 5 = {E (ppm) 0.001 0.001 0.001 0.001 0.002 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.002]

2T ABIEB 30 31 29 31 31 30 30 30 31 31 28 31 363
B B RS 716 738 688 740 740 715 716 715 739 738 667 738 8650
F 915 (ppm) 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000
1 BFREEAY0.1ppmZ #8 2 1= BRI 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
B FEHfEA%0.04ppmZE B % 1= HE 0 0 0 0 0 0 0 0 0 0 0 0 0
1B 1 IE D 7= = {B (ppm) 0.002 0.002 0.002 0.003 0.006 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.006]
B £ #1E D 5 = {E (ppm) 0.001 0.001 0.001 0.001 0.002 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.002]

B ARIE B 30 31 30 31 29 30 31 30 30 31 28 31 362
B B RS 717 741 716 740 716 716 740 715 734 741 667 739 8682
F #91E(ppm) 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.001 0.000
1B REEHY0.1ppmZ #8 % 1= B 1 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
B FEHfEA0.04ppmZ B % = HE 0 0 0 0 0 0 0 0 0 0 0 0 0
1 B ] IE D 2= = (B (ppm) 0.001 0.002 0.001 0.001 0.003 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.003]
B £ #1E D 5 = {E (ppm) 0.001 0.001 0.001 0.000 0.001 0.001 0.001 0.002 0.001 0.001 0.001 0.001 0.002]

B AhBIE B 30 31 30 31 29 30 31 30 30 31 28 31 362
B 7E B Rl 717 741 716 740 711 715 740 716 734 741 668 739 8678
F #91E(ppm) 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.001 0.000
1B REEAY0.1ppmZ #8 2 1= B 1 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
B FEHfEA0.04ppmZE B % = HE 0 0 0 0 0 0 0 0 0 0 0 0 0
1B 1 IE D £ = (B (ppm) 0.002 0.003 0.002 0.002 0.003 0.001 0.001 0.002 0.002 0.002 0.003 0.002 0.003]
B £ #1E D 5 = fE (ppm) 0.001 0.001 0.001 0.000 0.000 0.000 0.001 0.001 0.001 0.001 0.001 0.001 0.001

SIEEN AhBIEB 30 31 30 31 31 28 31 30 30 31 28 31 362
8 7E B Rl 716 741 715 740 740 691 740 716 735 740 667 740 8681
F #91E(ppm) 0.001 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000
1B REEHY0.1ppm# #8 2 1= B 1 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
B FEH{EA%0.04ppmZE B % = HE 0 0 0 0 0 0 0 0 0 0 0 0 0
1BERIED &= fE(pm) 0.002 0.002 0.002 0.001 0.004 0.002 0.002 0.002 0.003 0.001 0.002 0.001 0.004
B - #1E D 5 = fE (ppm) 0.002 0.002 0.002 0.000 0.002 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.002]




HE AMESH AN

20204
BIEER: S02
RS =) =
HIER EH 4H 58 6H 78 8H 98 10H 118 12H 1A 2H 38 At

it ABIEBR 30 31 30 31 29 30 31 30 30 31 28 31 362
B E B RS 716 742 716 740 712 717 739 715 734 740 667 739 8677
F 915 (ppm) 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000
1 BFREE HY0.1ppmZ #8 2 1= BRI 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
B FEHfEA%0.04ppmZE B A 1= HE 0 0 0 0 0 0 0 0 0 0 0 0 0
1B 1 IE D £ = 1B (ppm) 0.003 0.002 0.003 0.005 0.003 0.001 0.003 0.003 0.001 0.003 0.002 0.001 0.005]
B £ #1E D 5 = {E (ppm) 0.001 0.001 0.001 0.001 0.001 0.000 0.000 0.001 0.000 0.001 0.001 0.001 0.001

HE ABIEBR 30 31 30 31 29 30 31 30 31 30 28 31 362
B B RS 716 740 716 740 713 716 740 717 740 734 667 740 8679
F 915 (ppm) 0.000 0.001 0.001 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000
1 BFREE AY0.1ppmZ #8 2 1= BRI 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
B FEHfEA0.04ppmZE B A 1= HE 0 0 0 0 0 0 0 0 0 0 0 0 0
1B ] IE D T = {B (ppm) 0.004 0.003 0.004 0.003 0.003 0.002 0.002 0.002 0.001 0.002 0.002 0.002 0.004
B £ #1E D 5 5 {E (ppm) 0.001 0.001 0.001 0.001 0.001 0.000 0.001 0.001 0.000 0.001 0.001 0.001 0.001

JRET ABIEB 30 31 30 31 31 28 31 30 31 27 28 31 359
B B RS 716 742 716 740 741 689 740 716 740 668 668 739 8615
F 915 (ppm) 0.000 0.001 0.000 0.000 0.000 0.000 0.001 0.001 0.001 0.000 0.000 0.000 0.000
1 BFREE HY0.1ppmZ #8 2 1= BRI 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
B FEHfEA%0.04ppmZE B % 1= HE 0 0 0 0 0 0 0 0 0 0 0 0 0
1 B ] fIE D £ = (B (ppm) 0.005 0.010 0.011 0.010 0.006 0.003 0.004 0.009 0.002 0.005 0.007 0.006 0.011
B £ #1E D 5 = fE (ppm) 0.001 0.002 0.003 0.001 0.001 0.001 0.001 0.002 0.001 0.001 0.002 0.002 0.003]

(RS ABIE B 30 31 30 31 29 30 31 30 31 30 28 31 362
B B RS 716 742 715 740 713 716 737 711 738 732 667 740 8667
F #91E(ppm) 0.000 0.001 0.001 0.000 0.000 0.000 0.001 0.000 0.000 0.000 0.000 0.001 0.000
1 BFREE AY0.1ppmZ #8 2 1= B 1 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
B FEHfEA%0.04ppmZE B % 1= HE 0 0 0 0 0 0 0 0 0 0 0 0 0
1 B 1 IE D £ = (B (ppm) 0.004 0.006 0.006 0.003 0.005 0.002 0.005 0.003 0.003 0.002 0.004 0.004 0.006]
B £ #1E D 5 = {E (ppm) 0.001 0.002 0.002 0.001 0.001 0.001 0.002 0.001 0.001 0.001 0.001 0.001 0.002]

L% ARIEB 30 31 30 31 31 28 31 30 31 30 28 31 362
B B RS 716 740 715 740 740 694 741 716 741 736 668 740 8687
F 915 (ppm) 0.000 0.001 0.000 0.000 0.001 0.000 0.000 0.001 0.001 0.000 0.000 0.001 0.000
1B REE HY0.1ppmZ #8 2 1= B 1 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
B {EA%0.04ppmZE B % = HE 0 0 0 0 0 0 0 0 0 0 0 0 0
1B 1 E D T = {B (ppm) 0.005 0.005 0.005 0.004 0.004 0.004 0.006 0.004 0.004 0.005 0.009 0.004 0.009)
B £ #1E D 5 = {E (ppm) 0.001 0.002 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.003 0.001 0.003]

thH AAIE B 30 30 30 31 31 30 31 30 31 31 28 31 364
8 7E B Rl 714 729 714 735 736 710 734 714 737 738 666 737 8664
F 915 (ppm) 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001
1 BFREE AY0.1ppm# #8 2 1= B 1 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
B FEH{EA0.04ppmZE B % = HE 0 0 0 0 0 0 0 0 0 0 0 0 0
1B 1 E D £= = (B (ppm) 0.004 0.004 0.014 0.002 0.005 0.005 0.016 0.010 0.004 0.012 0.008 0.009 0.016]
B £ #1E D 5 = fE (ppm) 0.001 0.001 0.001 0.001 0.001 0.002 0.002 0.002 0.001 0.002 0.002 0.002 0.002]

/3 AhBIEB 30 31 30 31 31 30 31 30 31 31 28 31 365
8 7E B Rl 713 737 707 736 735 712 734 714 737 736 666 736 8663
F 95 (ppm) 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000
1B REEHY0.1ppm# #8 2 1= BRI 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
B FEH{EA0.04ppmZEFE % = HE 0 0 0 0 0 0 0 0 0 0 0 0 0
1BERIED &= fE(pm) 0.019 0.006 0.008 0.002 0.007 0.024 0.008 0.011 0.008 0.012 0.019 0.009 0.024
B #1E D 5 = fE (ppm) 0.002 0.001 0.001 0.000 0.001 0.002 0.001 0.001 0.001 0.002 0.002 0.001 0.002]




HE AMESH AN

20204
BIEER: S02
A 15 B
AER B 47 5H 68 7H 8H 9H 10H 11H 12H 1H 2H 38 REt

EAIT] ABIEBR 30 30 30 31 31 29 31 30 31 31 28 31 363
B E B RS 712 729 713 737 734 696 736 712 732 733 661 734 8629
F 915 (ppm) 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000
1 BFREE HY0.1ppmZ #8 2 1= BRI 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
B FEHfEA%0.04ppmZE B A 1= HE 0 0 0 0 0 0 0 0 0 0 0 0 0
1B 1 IE D £ = 1B (ppm) 0.011 0.004 0.030 0.007 0.008 0.011 0.002 0.006 0.009 0.011 0.011 0.007 0.030)
B £ #1E D 5 = {E (ppm) 0.001 0.001 0.003 0.001 0.001 0.001 0.000 0.001 0.001 0.001 0.002 0.002 0.003]

T ABIEBR 30 31 30 31 31 30 31 30 31 31 28 31 365
B B RS 714 733 714 736 738 714 734 714 737 738 666 738 8676
F 915 (ppm) 0.001 0.001 0.001 0.000 0.001 0.001 0.000 0.000 0.000 0.000 0.000 0.000 0.000
1 BFREE AY0.1ppmZ #8 2 1= BRI 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
B FEHfEA0.04ppmZE B A 1= HE 0 0 0 0 0 0 0 0 0 0 0 0 0
1B ] IE D T = {B (ppm) 0.013 0.015 0.015 0.006 0.011 0.019 0.009 0.010 0.008 0.009 0.005 0.008 0.019)
B £ #1E D 5 5 {E (ppm) 0.002 0.002 0.003 0.001 0.002 0.003 0.002 0.002 0.001 0.001 0.001 0.001 0.003]

ER ABIEB 30 29 30 31 31 30 30 30 31 31 28 31 362
B B RS 714 706 713 735 737 711 732 714 735 738 666 737 8638
F 915 (ppm) 0.001 0.001 0.001 0.001 0.001 0.000 0.000 0.000 0.000 0.000 0.001 0.000 0.001
1 BFREE HY0.1ppmZ #8 2 1= BRI 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
B FEHfEA%0.04ppmZE B % 1= HE 0 0 0 0 0 0 0 0 0 0 0 0 0
1 B ] fIE D £ = (B (ppm) 0.032 0.028 0.024 0.017 0.022 0.011 0.008 0.010 0.010 0.007 0.020 0.011 0.032]
B £ #1E D 5 = fE (ppm) 0.004 0.005 0.004 0.002 0.003 0.001 0.001 0.002 0.001 0.001 0.003 0.002 0.005]

PNV ABIE B 30 31 28 31 31 30 31 30 30 31 28 16 347
B B RS 713 738 699 741 742 714 741 718 730 738 665 403 8342
F #91E(ppm) 0.001 0.003 0.002 0.002 0.004 0.001 0.001 0.001 0.000 0.001 0.001 0.001 0.002
1 BFREE AY0.1ppmZ #8 2 1= B 1 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
B FEHfEA%0.04ppmZE B % 1= HE 0 0 0 0 0 0 0 0 0 0 0 0 0
1 B 1 IE D £ = (B (ppm) 0.028 0.030 0.025 0.023 0.038 0.043 0.014 0.007 0.008 0.013 0.012 0.013 0.043]
B £ #1E D 5 = {E (ppm) 0.004 0.009 0.007 0.009 0.011 0.013 0.003 0.003 0.002 0.002 0.003 0.003 0.013]

R ARIEB 30 31 30 31 31 30 31 30 31 31 28 31 365
B B RS 713 733 713 737 738 712 735 714 737 738 666 737 8673
F 915 (ppm) 0.001 0.001 0.001 0.001 0.002 0.001 0.001 0.001 0.001 0.001 0.002 0.001 0.001
1B REE HY0.1ppmZ #8 2 1= B 1 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
B {EA%0.04ppmZE B % = HE 0 0 0 0 0 0 0 0 0 0 0 0 0
1B 1 E D T = {B (ppm) 0.032 0.020 0.056 0.018 0.029 0.043 0.020 0.011 0.010 0.008 0.021 0.015 0.056)
B £ #1E D 5 = {E (ppm) 0.005 0.005 0.005 0.003 0.005 0.006 0.004 0.003 0.004 0.003 0.006 0.003 0.006]

Bt AAIE B 30 30 30 31 31 30 30 30 31 31 28 31 363
8 7E B Rl 714 729 712 736 738 709 732 714 736 738 666 736 8660
F 915 (ppm) 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001
1 BFREE AY0.1ppm# #8 2 1= B 1 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
B FEH{EA0.04ppmZE B % = HE 0 0 0 0 0 0 0 0 0 0 0 0 0
1B 1 E D £= = (B (ppm) 0.006 0.013 0.009 0.006 0.015 0.006 0.006 0.008 0.006 0.006 0.007 0.006 0.015]
B £ #1E D 5 = fE (ppm) 0.002 0.003 0.002 0.002 0.003 0.002 0.002 0.002 0.001 0.002 0.002 0.002 0.003]

FRE AhBIEB 30 30 30 31 31 30 31 30 31 31 28 31 364
8 7E B Rl 718 735 715 737 742 716 740 718 742 742 670 740 8715
F 95 (ppm) 0.001 0.001 0.001 0.001 0.001 0.000 0.000 0.000 0.000 0.001 0.001 0.001 0.001
1B REEHY0.1ppm# #8 2 1= BRI 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
B FEH{EA0.04ppmZEFE % = HE 0 0 0 0 0 0 0 0 0 0 0 0 0
1BERIED &= fE(pm) 0.013 0.012 0.012 0.012 0.014 0.009 0.007 0.009 0.005 0.008 0.010 0.007 0.014
B #1E D 5 = fE (ppm) 0.002 0.004 0.003 0.003 0.004 0.003 0.001 0.002 0.001 0.002 0.003 0.002 0.004




HE AMESH AN

20204

BIEER: S02
A EH 4H 58 6H 78 8H 98 10H 118 12H 1A 2H 38 At

EES ABIEBR 30 31 29 31 31 30 31 30 31 31 28 31 364
B E B RS 714 737 706 734 738 712 737 713 738 736 666 738 8669
F 915 (ppm) 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.000 0.001 0.001 0.001 0.001
1 BFREE HY0.1ppmZ #8 2 1= BRI 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
B FEHfEA%0.04ppmZE B A 1= HE 0 0 0 0 0 0 0 0 0 0 0 0 0
1B 1 IE D £ = 1B (ppm) 0.011 0.017 0.024 0.020 0.019 0.012 0.011 0.012 0.007 0.009 0.010 0.011 0.024
B £ #1E D 5 = {E (ppm) 0.002 0.004 0.003 0.003 0.004 0.002 0.002 0.002 0.001 0.001 0.003 0.003 0.004

mE ABIEBR 30 31 30 31 31 30 30 30 31 31 28 31 364
B B RS 709 736 709 737 738 710 724 712 732 735 666 737 8645
F 915 (ppm) 0.000 0.001 0.001 0.001 0.001 0.001 0.000 0.001 0.000 0.000 0.000 0.000 0.001
1 BFREE AY0.1ppmZ #8 2 1= BRI 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
B FEHfEA0.04ppmZE B A 1= HE 0 0 0 0 0 0 0 0 0 0 0 0 0
1B ] I8 D £ = {B (ppm) 0.006 0.007 0.007 0.005 0.006 0.006 0.007 0.009 0.005 0.009 0.007 0.006 0.009)
BEBED S =18 (ppm) 0.002 0.003 0.002 0.002 0.002 0.002 0.002 0.002 0.001 0.001 0.002 0.002 0.003]




HE AMESH AN

20204
BIEER: SPM
RS =) =
HIER EH 4H 58 6H 78 8H 98 10H 118 12H 1A 2H 38 At

FaHET ABIEBR 30 31 29 29 31 30 31 30 31 31 27 31 361
B E B RS 717 741 705 714 743 716 742 717 743 742 667 741 8688
F 15 f(mg/m3) 0.014 0.020 0.019 0.016 0.024 0.015 0.015 0.014 0.009 0.011 0.013 0.018 0.016
1B IEAY0.20me/m3%RB Z =R 3R 0 0 0 0 0 0 0 0 0 0 0 0 0
HEH{EAY.10me/m3F B2 1-A %k 0 0 0 0 0 0 0 0 0 0 0 1 1
1B IE D 5 = { (mg/m3) 0.041 0.045 0.129 0.035 0.058 0.033 0.039 0.042 0.024 0.033 0.041 0.140 0.140)
B F#1E D 5 5 fE(mg/m3) 0.031 0.040 0.039 0.025 0.047 0.023 0.027 0.030 0.015 0.020 0.031 0.111 0.111

#5 AhBIE B 30 31 29 29 31 30 31 30 31 31 28 31 362
B B RS 717 742 707 715 743 719 741 719 743 743 665 742 8696
F 15 f(mg/m3) 0.007 0.010 0.010 0.008 0.016 0.008 0.008 0.008 0.005 0.007 0.007 0.014 0.009
1B IEAY0.20me/m3%#B Z =R 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
HEH{EAY.10meg/m3F B2 -0 %k 0 0 0 0 0 0 0 0 0 0 0 0 0
1B IE D & = B (mg/m3) 0.058 0.082 0.034 0.040 0.056 0.033 0.049 0.040 0.039 0.037 0.042 0.115 0.115]
B F#1E D 5 = fE(mg/m3) 0.016 0.027 0.022 0.021 0.039 0.016 0.016 0.023 0.010 0.016 0.024 0.090 0.090)

B AAIE B 30 31 29 29 31 30 31 30 31 31 28 31 362
B B RS 718 743 714 716 743 719 743 719 741 743 669 743 8711
F 15 fE(mg/m3) 0.008 0.011 0.012 0.009 0.019 0.009 0.008 0.009 0.006 0.007 0.008 0.013 0.010
1B IEAY0.20me/m3%#B Z =R 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
HEH{EAY.10meg/m3F B2 -0 %k 0 0 0 0 0 0 0 0 0 0 0 0 0
1B IE O 5 = {B (mg/m3) 0.027 0.033 0.036 0.053 0.090 0.033 0.033 0.031 0.044 0.026 0.036 0.085 0.090)
B F#1E D 5 5 fE(mg/m3) 0.019 0.028 0.026 0.020 0.044 0.018 0.019 0.023 0.015 0.016 0.026 0.072 0.072]

ZRH AAIEB 30 31 26 31 31 30 31 30 31 31 28 31 361
B B RS 719 743 670 743 742 719 743 719 738 742 668 743 8689
F 15 f(mg/m3) 0.008 0.011 0.012 0.008 0.019 0.008 0.008 0.009 0.004 0.005 0.007 0.012 0.009
1B IEAY0.20me/m3%RB Z =R 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
HEH{EAY.10meg/m3F B2 1-A %k 0 0 0 0 0 0 0 0 0 0 0 0 0
1B IE D 5 = {B (mg/m3) 0.048 0.055 0.042 0.046 0.069 0.045 0.052 0.047 0.031 0.031 0.043 0.092 0.092]
B F#1E D & = fE(mg/m3) 0.023 0.028 0.031 0.025 0.041 0.017 0.023 0.032 0.009 0.014 0.030 0.069 0.069)

8 ABIEB 30 31 28 31 31 30 31 30 31 29 28 31 361
B B RS 719 742 671 743 742 719 742 719 743 695 671 743 8649
15 fiE(mg/m3) 0.012 0.014 0.015 0.011 0.019 0.011 0.012 0.012 0.007 0.009 0.009 0.016 0.012
1B R IEAY0.20me/m3%RB Z =R 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
HEH{EAY.10meg/m3F B2 1-A %k 0 0 0 0 0 0 0 0 0 0 0 0 0
1B E O T = B (mg/m3) 0.040 0.043 0.046 0.040 0.072 0.028 0.040 0.042 0.023 0.036 0.038 0.123 0.123)
B F#1E D 5 5 fE(mg/m3) 0.028 0.034 0.038 0.024 0.036 0.020 0.027 0.028 0.015 0.023 0.031 0.099 0.099)

7T ABIEB 30 29 29 31 31 30 30 30 31 31 28 31 361
B 7E B Rl 719 695 693 743 743 719 719 719 743 741 671 743 8648
F 15 f(mg/m3) 0.009 0.012 0.011 0.007 0.014 0.007 0.009 0.010 0.005 0.007 0.009 0.014 0.010
1B IEAY0.20me/m3% B Z =B R 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
HE5{EAY.10meg/m3F B2 1-A %k 0 0 0 0 0 0 0 0 0 0 0 0 0
1B E O & = B (mg/m3) 0.040 0.048 0.050 0.031 0.051 0.027 0.049 0.043 0.026 0.030 0.040 0.107 0.107
B F#1E D 5 = fE(mg/m3) 0.025 0.031 0.034 0.019 0.028 0.014 0.022 0.026 0.011 0.017 0.032 0.085 0.085]

A AhRIE B 30 31 30 31 26 - — - - - - - 148
8 7E B Rl 719 743 716 741 650 - — - - - - - 3569)
T 15{B(mg/m3) 0.003 0.006 0.007 0.001 0.005 - — - - - - - 0.004
1B IEAY0.20me/m3%#B Z =B R 3K 0 0 0 0 0 - — - - - - - 0
HEH{EAY.10meg/m3F B2 1-A %k 0 0 0 0 0 - — - - - - - 0
1B IE D & = {B (mg/m3) 0.022 0.034 0.047 0.017 0.028 - — - - - - - 0.047
B F#1E D & 5 fE(mg/m3) 0.016 0.023 0.029 0.008 0.019 - — - - - - - 0.029)




HE AMESH AN

20204
BIEER: SPM
RS =) =
HIER EH 4H 58 6H 78 8H 98 10H 118 12H 1A 2H 38 At

KR ABIEBR 30 31 28 31 31 30 31 30 31 31 28 31 363
B E B RS 719 743 692 743 743 719 743 717 739 742 668 741 8709
F 15 f(mg/m3) 0.007 0.010 0.011 0.008 0.015 0.007 0.008 0.008 0.005 0.006 0.008 0.012 0.009
1B IEAY0.20me/m3%#B Z =R 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
HEH{EAY.10meg/m3F B2 -0 %k 0 0 0 0 0 0 0 0 0 0 0 0 0
1 B¥ R IE D 5 = { (mg/m3) 0.037 0.048 0.042 0.041 0.057 0.040 0.045 0.050 0.031 0.026 0.041 0.102 0.102]
B F#1E D 5 5 fE(mg/m3) 0.021 0.028 0.028 0.023 0.028 0.014 0.020 0.023 0.014 0.014 0.026 0.071 0.071

B AhBIE B 30 31 30 31 28 30 31 30 31 31 28 31 362
B B RS 719 743 719 743 698 718 743 719 739 743 671 742 8697
F 15 fE(mg/m3) 0.007 0.009 0.011 0.009 0.017 0.007 0.007 0.009 0.005 0.005 0.006 0.010 0.009
1B IEAY0.20me/m3%RB Z =R 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
HE5{EAY.10meg/m3F B2 -0 %k 0 0 0 0 0 0 0 0 0 0 0 0 0
1B IE D 5 = B (mg/m3) 0.033 0.042 0.047 0.033 0.052 0.044 0.050 0.046 0.028 0.024 0.037 0.065 0.065]
B F#1E D 5 5 fE(mg/m3) 0.020 0.028 0.031 0.025 0.033 0.017 0.023 0.032 0.013 0.014 0.022 0.046 0.046]

e ABIE B 30 31 30 31 30 28 31 30 31 31 28 31 362
B B RS 719 743 719 743 731 673 743 718 741 743 669 742 8684
F 15 f(mg/m3) 0.008 0.010 0.012 0.008 0.016 0.008 0.008 0.007 0.004 0.006 0.007 0.012 0.009
1B IEAY0.20me/m3%iB Z =R 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
HEH{EAY.10meg/m3F B2 -0 %k 0 0 0 0 0 0 0 0 0 0 0 0 0
1B IE D 5 = {B (mg/m3) 0.037 0.047 0.063 0.036 0.073 0.029 0.047 0.044 0.029 0.037 0.040 0.096 0.096]
B F#1E D 5 5 fE(mg/m3) 0.022 0.027 0.034 0.019 0.035 0.016 0.019 0.019 0.010 0.016 0.020 0.062 0.062]

SEEW ABIEB 30 31 30 31 31 28 31 30 31 31 28 31 363
B B RS 719 743 718 742 743 688 743 719 740 743 669 743 8710
F 15 f(mg/m3) 0.006 0.008 0.009 0.005 0.015 0.006 0.007 0.008 0.004 0.008 0.009 0.013 0.008
1B IEAY0.20me/m3%iB Z =R 3R 0 0 0 0 0 0 0 0 0 0 0 0 0
HEH{EAY.10meg/m3F B2 1-A %k 0 0 0 0 0 0 0 0 0 0 0 0 0
1B IE D 7 = B (mg/m3) 0.028 0.037 0.052 0.031 0.061 0.034 0.037 0.035 0.026 0.053 0.043 0.105 0.105]
B F#1E D 5 = fE(mg/m3) 0.019 0.025 0.023 0.019 0.043 0.013 0.023 0.022 0.012 0.030 0.034 0.078 0.078]

BE%5 ABIEB 30 31 27 31 31 30 31 30 31 30 28 31 361
B B RS 719 743 671 743 743 719 742 719 737 734 670 743 8683
15 f(mg/m3) 0.007 0.009 0.009 0.006 0.017 0.007 0.008 0.008 0.004 0.007 0.008 0.011 0.008
1B IEAY0.20me/m3%RB Z =R 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
HEH{EAY.10meg/m3F B2 1-A %k 0 0 0 0 0 0 0 0 0 0 0 0 0
1B IE D 5 = {B (mg/m3) 0.042 0.045 0.035 0.036 0.070 0.032 0.056 0.042 0.024 0.075 0.037 0.082 0.082]
B F#1E D 5 = fE(mg/m3) 0.018 0.026 0.023 0.021 0.051 0.013 0.022 0.018 0.012 0.020 0.029 0.063 0.063]

EESES ABIEB 30 31 30 31 29 30 31 30 31 31 28 31 363
8 7E B Rl 719 743 719 743 714 717 743 719 739 743 670 742 8711
F 15 fE(mg/m3) 0.006 0.007 0.008 0.004 0.013 0.005 0.005 0.006 0.003 0.005 0.006 0.010 0.007
1B RIEAY0.20me/m3%#B Z =B R 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
HEH{EAY.10meg/m3E B2 1-A %k 0 0 0 0 0 0 0 0 0 0 0 0 0
1B E O 2 = B (mg/m3) 0.040 0.038 0.032 0.021 0.048 0.031 0.027 0.033 0.038 0.039 0.042 0.089 0.089)
B F#1E D & 5 fE(mg/m3) 0.016 0.022 0.023 0.010 0.031 0.010 0.015 0.019 0.009 0.022 0.026 0.053 0.053]

it AhBIEB 30 31 30 31 29 30 31 30 31 31 28 31 363
8 7E B Rl 719 743 719 743 713 719 743 719 740 742 669 742 8711
15 fE(mg/m3) 0.008 0.012 0.012 0.008 0.019 0.010 0.006 0.006 0.003 0.005 0.006 0.013 0.009
1B R EAY0.20me/m3% B Z =B R 3R 0 0 0 0 0 0 0 0 0 0 0 0 0
HE5{EAY.10meg/m3F B2 1-A %k 0 0 0 0 0 0 0 0 0 0 0 0 0
1B IE D i = B (mg/m3) 0.042 0.072 0.053 0.042 0.085 0.066 0.038 0.055 0.027 0.031 0.045 0.105 0.105]
B F#H1E D & 5 fE(mg/m3) 0.017 0.041 0.031 0.018 0.048 0.027 0.021 0.028 0.007 0.015 0.025 0.080 0.080)




HE AMESH AN

20204
BIEER: SPM
RS =) =
HIER EH 4H 58 6H 78 8H 98 10H 118 12H 1A 2H 38 At

HE ABIEBR 30 31 30 31 28 30 31 30 31 28 28 31 359
B E B RS 719 744 720 743 692 718 744 720 741 691 670 744 8646
F 15 f(mg/m3) 0.012 0.016 0.016 0.014 0.025 0.018 0.013 0.012 0.007 0.010 0.012 0.019 0.015
1B IEAY0.20me/m3%#B Z =R 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
HEH{EAY.10meg/m3F B2 -0 %k 0 0 0 0 0 0 0 0 0 0 0 0 0
1 B¥ R IE D 5 = { (mg/m3) 0.047 0.055 0.045 0.037 0.066 0.044 0.035 0.046 0.020 0.034 0.038 0.104 0.104
B F#1E D 5 5 fE(mg/m3) 0.023 0.041 0.029 0.022 0.049 0.029 0.028 0.028 0.012 0.020 0.028 0.095 0.095]

JRET AhBIE B 30 31 30 31 31 28 31 30 31 31 28 31 363
B B RS 719 743 719 743 743 688 743 718 743 740 671 742 8712
F 15 fE(mg/m3) 0.009 0.012 0.013 0.009 0.017 0.010 0.008 0.008 0.005 0.007 0.008 0.012 0.010
1B IEAY0.20me/m3%RB Z =R 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
HE5{EAY.10meg/m3F B2 -0 %k 0 0 0 0 0 0 0 0 0 0 0 0 0
1B IE D 5 = B (mg/m3) 0.033 0.044 0.082 0.038 0.076 0.032 0.026 0.027 0.022 0.026 0.038 0.068 0.082]
B F#1E D 5 5 fE(mg/m3) 0.020 0.032 0.028 0.017 0.036 0.018 0.021 0.019 0.008 0.014 0.025 0.063 0.063]

=} ABIE B 30 31 30 31 31 27 31 30 31 31 28 31 362
B B RS 720 743 720 744 743 662 743 720 742 743 669 743 8692
F 15 f(mg/m3) 0.011 0.015 0.015 0.012 0.019 0.011 0.008 0.007 0.004 0.006 0.008 0.014 0.011
1B IEAY0.20me/m3%iB Z =R 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
HEH{EAY.10meg/m3F B2 -0 %k 0 0 0 0 0 0 0 0 0 0 0 0 0
1B IE D 5 = {B (mg/m3) 0.054 0.055 0.052 0.036 0.061 0.057 0.028 0.031 0.015 0.024 0.037 0.107 0.107
B F#1E D 5 5 fE(mg/m3) 0.024 0.039 0.030 0.022 0.042 0.030 0.021 0.020 0.009 0.014 0.027 0.086 0.086]

WE ABIEB 30 31 30 31 31 28 31 30 31 31 28 31 363
B B RS 720 743 720 743 742 689 743 720 742 740 672 743 8717
F 15 f(mg/m3) 0.010 0.013 0.014 0.011 0.019 0.012 0.008 0.007 0.003 0.006 0.008 0.016 0.011
1B IEAY0.20me/m3%iB Z =R 3R 0 0 0 0 0 0 0 0 0 0 0 0 0
HEH{EAY.10meg/m3F B2 1-A %k 0 0 0 0 0 0 0 0 0 0 0 0 0
1B IE D 7 = B (mg/m3) 0.053 0.052 0.052 0.048 0.065 0.039 0.028 0.029 0.014 0.026 0.035 0.109 0.109)
B F#1E D 5 = fE(mg/m3) 0.022 0.031 0.031 0.022 0.042 0.025 0.021 0.018 0.008 0.016 0.028 0.094 0.094

i ABIEB 30 31 30 31 31 28 31 30 31 31 28 31 363
B B RS 719 743 719 742 743 689 742 718 740 743 669 742 8709
15 f(mg/m3) 0.008 0.010 0.011 0.009 0.017 0.010 0.006 0.006 0.003 0.004 0.006 0.011 0.008
1B IEAY0.20me/m3%RB Z =R 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
HEH{EAY.10meg/m3F B2 1-A %k 0 0 0 0 0 0 0 0 0 0 0 0 0
1B IE D 5 = {B (mg/m3) 0.049 0.056 0.052 0.048 0.073 0.046 0.082 0.053 0.028 0.026 0.047 0.097 0.097
B F#1E D 5 = fE(mg/m3) 0.018 0.031 0.027 0.021 0.044 0.020 0.018 0.020 0.007 0.011 0.024 0.072 0.072]

(RS ABIEB 30 31 30 31 29 30 31 28 31 31 28 31 361
8 7E B Rl 719 743 716 742 711 718 741 696 741 737 670 743 8677
F 15 fE(mg/m3) 0.007 0.009 0.010 0.009 0.017 0.010 0.006 0.006 0.002 0.003 0.005 0.010 0.008
1B RIEAY0.20me/m3%#B Z =B R 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
HEH{EAY.10meg/m3E B2 1-A %k 0 0 0 0 0 0 0 0 0 0 0 0 0
1B E O 2 = B (mg/m3) 0.053 0.057 0.065 0.095 0.086 0.051 0.031 0.040 0.017 0.023 0.039 0.084 0.095]
B F#1E D & 5 fE(mg/m3) 0.017 0.032 0.024 0.021 0.037 0.023 0.019 0.017 0.005 0.012 0.020 0.068 0.068]

L% AhBIEB 30 31 30 31 31 28 31 30 31 31 28 31 363
8 7E B Rl 719 743 718 743 740 691 743 719 742 741 669 742 8710
15 fE(mg/m3) 0.011 0.013 0.014 0.010 0.019 0.010 0.007 0.007 0.004 0.005 0.008 0.012 0.010
1B R EAY0.20me/m3% B Z =B R 3R 0 0 0 0 0 0 0 0 0 0 0 0 0
HE5{EAY.10meg/m3F B2 1-A %k 0 0 0 0 0 0 0 0 0 0 0 0 0
1B IE D i = B (mg/m3) 0.042 0.059 0.057 0.067 0.100 0.036 0.031 0.028 0.013 0.021 0.029 0.070 0.100]
B F#H1E D & 5 fE(mg/m3) 0.024 0.038 0.031 0.019 0.048 0.020 0.021 0.018 0.008 0.014 0.022 0.058 0.058]




HE AMESH AN

20204
BIEER: SPM
RS =) =
HIER EH 4H 58 6H 78 8H 98 10H 118 12H 1A 2H 38 At

LA ABIEBR 30 29 30 29 27 30 31 30 31 31 28 31 357
B E B RS 718 712 718 713 651 714 739 718 742 742 670 741 8578
F 15 f(mg/m3) 0.005 0.010 0.010 0.008 0.017 0.011 0.008 0.008 0.004 0.005 0.008 0.012 0.009
1B IEAY0.20me/m3%#B Z =R 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
HEH{EAY.10meg/m3F B2 -0 %k 0 0 0 0 0 0 0 0 0 0 0 0 0
1 B¥ R IE D 5 = { (mg/m3) 0.023 0.049 0.041 0.024 0.050 0.028 0.027 0.036 0.018 0.025 0.034 0.060 0.060]
B F#1E D 5 5 fE(mg/m3) 0.017 0.032 0.023 0.015 0.033 0.018 0.020 0.017 0.008 0.014 0.022 0.049 0.049)

EAIT AhBIE B 30 28 30 31 31 30 31 30 31 31 28 31 362
B B RS 719 707 719 743 742 714 743 719 743 743 671 743 8706
F 15 fE(mg/m3) 0.010 0.016 0.019 0.017 0.026 0.016 0.007 0.007 0.004 0.005 0.007 0.012 0.012
1B IEAY0.20me/m3%RB Z =R 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
HE5{EAY.10meg/m3F B2 -0 %k 0 0 0 0 0 0 0 0 0 0 0 0 0
1B IE D 5 = B (mg/m3) 0.047 0.070 0.078 0.059 0.064 0.050 0.038 0.039 0.018 0.029 0.044 0.088 0.088]
B F#1E D 5 5 fE(mg/m3) 0.022 0.040 0.032 0.026 0.044 0.034 0.021 0.019 0.008 0.015 0.021 0.066 0.066]

ER ABIE B 30 29 30 31 31 30 30 30 31 31 28 31 362
B B RS 718 710 717 740 741 715 737 718 740 742 670 742 8690
F 15 f(mg/m3) 0.017 0.022 0.023 0.022 0.030 0.021 0.015 0.016 0.010 0.012 0.014 0.022 0.019
1B IEAY0.20me/m3%iB Z =R 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
HEH{EAY.10meg/m3F B2 -0 %k 0 0 0 0 0 0 0 0 0 0 0 0 0
1B IE D 5 = {B (mg/m3) 0.077 0.077 0.105 0.073 0.086 0.065 0.053 0.071 0.038 0.049 0.060 0.115 0.115]
B F#1E D 5 5 fE(mg/m3) 0.030 0.049 0.042 0.035 0.052 0.038 0.028 0.035 0.016 0.023 0.033 0.087 0.087

PNV ABIEB 30 31 28 31 31 30 31 30 30 31 28 16 347
B B RS 713 738 682 741 742 714 741 718 732 743 670 407 8341
F 15 f(mg/m3) 0.016 0.020 0.021 0.019 0.022 0.017 0.014 0.014 0.008 0.008 0.011 0.023 0.016
1B IEAY0.20me/m3%iB Z =R 3R 0 0 0 0 0 0 0 0 0 0 0 0 0
HEH{EAY.10meg/m3F B2 1-A %k 0 0 0 0 0 0 0 0 0 0 0 0 0
1B IE D 7 = B (mg/m3) 0.067 0.076 0.101 0.052 0.065 0.045 0.044 0.060 0.031 0.029 0.045 0.108 0.108]
B F#1E D 5 = fE(mg/m3) 0.030 0.050 0.043 0.030 0.038 0.030 0.029 0.033 0.013 0.020 0.029 0.092 0.092]

Bt ABIEB 30 29 30 31 31 30 31 30 31 31 28 31 363
B B RS 719 712 718 742 743 717 741 719 742 743 671 743 8710
15 f(mg/m3) 0.010 0.014 0.016 0.013 0.019 0.012 0.010 0.010 0.006 0.008 0.010 0.016 0.012
1B IEAY0.20me/m3%RB Z =R 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
HEH{EAY.10meg/m3F B2 1-A %k 0 0 0 0 0 0 0 0 0 0 0 0 0
1B IE D 5 = {B (mg/m3) 0.031 0.058 0.048 0.041 0.058 0.035 0.029 0.033 0.017 0.029 0.038 0.105 0.105]
B F#1E D 5 = fE(mg/m3) 0.023 0.037 0.030 0.021 0.039 0.023 0.023 0.022 0.011 0.019 0.026 0.091 0.091

FRE ABIEB 29 31 28 31 31 30 31 30 31 31 28 31 362
8 7E B Rl 713 742 686 743 743 718 743 719 743 742 670 743 8705
F 15 fE(mg/m3) 0.014 0.020 0.023 0.021 0.029 0.016 0.007 0.007 0.003 0.005 0.007 0.012 0.014
1B RIEAY0.20me/m3%#B Z =B R 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
HEH{EAY.10meg/m3E B2 1-A %k 0 0 0 0 0 0 0 0 0 0 0 0 0
1B E O 2 = B (mg/m3) 0.036 0.068 0.072 0.056 0.072 0.045 0.044 0.039 0.020 0.026 0.039 0.080 0.080)
B F#1E D & 5 fE(mg/m3) 0.024 0.042 0.043 0.034 0.046 0.034 0.020 0.019 0.008 0.014 0.023 0.065 0.065)

EES AhBIEB 30 31 27 31 31 30 31 30 31 31 28 31 362
8 7E B Rl 719 743 687 743 743 717 743 719 743 742 671 743 8713
15 fE(mg/m3) 0.009 0.013 0.015 0.013 0.020 0.011 0.008 0.007 0.004 0.005 0.007 0.013 0.010
1B R EAY0.20me/m3% B Z =B R 3R 0 0 0 0 0 0 0 0 0 0 0 0 0
HE5{EAY.10meg/m3F B2 1-A %k 0 0 0 0 0 0 0 0 0 0 0 0 0
1B IE D i = B (mg/m3) 0.025 0.062 0.090 0.058 0.076 0.036 0.031 0.028 0.013 0.022 0.031 0.097 0.097
B F#H1E D & 5 fE(mg/m3) 0.021 0.037 0.034 0.028 0.041 0.025 0.021 0.018 0.007 0.016 0.022 0.078 0.078]




HE AMESH AN

20204
BIEER: SPM
FTE==g=1 —
HIER EH 4H 58 6H 78 8H 98 10H 118 12H 1A 2H 38 At
mE ABIEBR 30 31 30 31 31 30 29 30 31 31 28 31 363
B E B RS 714 741 714 743 741 713 712 717 741 738 669 740 8683
F 15 f(mg/m3) 0.009 0.011 0.012 0.010 0.017 0.011 0.009 0.008 0.004 0.006 0.008 0.015 0.010]
1B IEAY0.20me/m3%#B Z =R 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
HEH{EAY.10meg/m3F B2 -0 %k 0 0 0 0 0 0 0 0 0 0 0 0 0
1B fIE D 5 15 {B (mg/m3) 0.041 0.052 0.044 0.042 0.055 0.050 0.038 0.054 0.020 0.028 0.065 0.092 0.092]
HEBED RS E(me/m3) 0.019 0.035 0.028 0.022 0.035 0.025 0.025 0.020 0.009 0.017 0.024 0.080 0.080




HE AMESH AN

20204

RIEEE: NO,
AR 5H 45 58 65 78 8H 98 108 118 128 18 28 3H R

EL) ARAIEAR 30 31 30 29 31 30 31 30 31 31 28 31 363
2 B RS 717 739 709 729 738 717 741 716 742 742 667 742 8699
SE51E(ppm) 0.005 0.005 0.005 0.005 0.005 0.004 0.007 0.009 0.010 0.010 0.008 0.008 0.007
1B 1 E D &= 5 (B (ppm) 0.023 0.019 0.013 0.013 0.016 0.012 0.021 0.031 0.036 0.041 0.031 0.026 0.041
B FH{ED RS E(ppm) 0.010 0.011 0.008 0.008 0.008 0.007 0.013 0.018 0.023 0.021 0.015 0.018 0.023]
1BRAEHY0.20pmZ B 2 1= BERAZK 0 0 0 0 0 0 0 0 0 0 0 0 0
1BERA{EAY0.1ppm L _E0.20pm LA T D BERASK 0 0 0 0 0 0 0 0 0 0 0 0 0
B FHfEA%0.060pmZEHE A - HE 0 0 0 0 0 0 0 0 0 0 0 0 0
H S $5{EA%0.04ppm L _E0.06ppm L T D H # 0 0 0 0 0 0 0 0 0 0 0 0 0

B ARAIEBA 30 31 28 31 31 30 31 30 31 31 27 31 362
2 B RS 716 740 700 737 738 714 736 712 737 736 659 736 8661
SE5TE(ppm) 0.004 0.004 0.004 0.004 0.003 0.003 0.006 0.007 0.009 0.009 0.007 0.006 0.006]
1B 1 E D &= 5 (B (ppm) 0.019 0.018 0.012 0.011 0.010 0.011 0.018 0.029 0.035 0.037 0.032 0.028 0.037
B FH{ED RS E(ppm) 0.010 0.011 0.007 0.006 0.005 0.006 0.011 0.017 0.024 0.021 0.016 0.016 0.024
1BRAEHY0.20pmZ #E % 1= BERAZK 0 0 0 0 0 0 0 0 0 0 0 0 0
1B RA{EAY0.1ppm L E0.20pm LA T D BERASK 0 0 0 0 0 0 0 0 0 0 0 0 0
B FHfEA%0.060pmZEHE A = HE 0 0 0 0 0 0 0 0 0 0 0 0 0
H S $5{EA%0.04ppm L _E0.06ppm L T D HE 0 0 0 0 0 0 0 0 0 0 0 0 0

B ARAIEBAR 28 28 28 31 31 25 — 4 31 31 28 31 296
I E B RS 689 672 688 736 738 603 - 115 735 738 663 737 7114
SE5TE(ppm) 0.003 0.003 0.003 0.003 0.003 0.002 - 0.006 0.008 0.008 0.005 0.005 0.004
1B 1 E D &= 5 {E (ppm) 0.018 0.016 0.009 0.010 0.008 0.008 - 0.019 0.035 0.032 0.030 0.020 0.035)
B 1B D 55 fE(ppm) 0.008 0.009 0.005 0.005 0.004 0.005 — 0.008 0.023 0.018 0.011 0.011 0.023
1B¥RAEHY0.20pmZ B 2 1= BERAZK 0 0 0 0 0 0 - 0 0 0 0 0 0
1B RA{EAY0.1ppm L E0.20pm LA T D BERASK 0 0 0 0 0 0 — 0 0 0 0 0 0
B FH{EA%.060pmZEHE A - BE 0 0 0 0 0 0 — 0 0 0 0 0 0
H S #{EA%0.04ppm LA _E0.06ppm L T D HE 0 0 0 0 0 0 - 0 0 0 0 0 0

FE ARAIERR 30 31 30 31 31 29 31 30 31 29 28 31 362
72 B RS 711 734 711 735 734 689 736 712 733 688 663 734 8617
SE5TE(ppm) 0.006 0.006 0.006 0.006 0.005 0.005 0.007 0.009 0.009 0.010 0.009 0.007 0.007
1B R E D &= 5 (B (ppm) 0.037 0.043 0.039 0.020 0.034 0.025 0.025 0.054 0.046 0.037 0.049 0.041 0.054
B FH{ED RS E(ppm) 0.013 0.018 0.010 0.009 0.011 0.008 0.016 0.018 0.021 0.019 0.021 0.017 0.021
1BRAEHY0.20pmZ iR 2 1= BERAZK 0 0 0 0 0 0 0 0 0 0 0 0 0
1BERA{EAY0.1ppm L _E0.20pm LA T D BERASK 0 0 0 0 0 0 0 0 0 0 0 0 0
B FH{EA%.060pmZEHE A = HE 0 0 0 0 0 0 0 0 0 0 0 0 0
H S #{EA%0.04ppm L _E0.06ppm L T D H 0 0 0 0 0 0 0 0 0 0 0 0 0

Iz T ARHAIEAR 30 31 30 31 31 29 31 30 31 29 28 31 362
2 B RS 711 735 708 735 736 687 735 713 734 686 665 733 8578
SE5TE(ppm) 0.005 0.005 0.005 0.005 0.005 0.005 0.007 0.007 0.008 0.009 0.006 0.006 0.006]
1B 1 E D &= = (B (ppm) 0.034 0.036 0.044 0.033 0.033 0.025 0.032 0.051 0.039 0.046 0.031 0.040 0.051
B FH{EDH & E(ppm) 0.012 0.013 0.010 0.007 0.008 0.009 0.017 0.017 0.016 0.019 0.013 0.016 0.019)
1BRAEHY0.20pmZ iR 2 1= BERAZK 0 0 0 0 0 0 0 0 0 0 0 0 0
1BERA{EAY0.1ppm L E0.20pm LA T D BERASK 0 0 0 0 0 0 0 0 0 0 0 0 0
B FEHfEA%0.060pmZHE A - HE 0 0 0 0 0 0 0 0 0 0 0 0 0
B S #{EA%0.04ppm L _E0.06ppm L T D H # 0 0 0 0 0 0 0 0 0 0 0 0 0




HE AMESH AN

20204

RIEEE: NO,
AR 5H 45 58 68 78 8H 98 108 118 128 18 28 3H R

BB ARAIEAR 30 31 30 31 29 30 31 30 31 31 28 31 363
2 B RS 717 741 716 740 715 716 741 715 737 741 666 739 8684
5 1E(ppm) 0.005 0.005 0.005 0.005 0.004 0.005 0.006 0.006 0.007 0.008 0.006 0.006 0.006]
1B E D &= 5 (B (ppm) 0.024 0.030 0.022 0.038 0.017 0.025 0.027 0.030 0.035 0.049 0.035 0.038 0.049)
B F 5 {ED RS E(ppm) 0.009 0.009 0.011 0.010 0.007 0.008 0.011 0.014 0.014 0.019 0.012 0.013 0.019)
1BRAEHY0.20pmZ B % 1= BERAZK 0 0 0 0 0 0 0 0 0 0 0 0 0
1BERA{EAY0.1ppm L _E0.20pm LA T D BERASK 0 0 0 0 0 0 0 0 0 0 0 0 0
B FHfEA%0.060pmZEHE A - HE 0 0 0 0 0 0 0 0 0 0 0 0 0
H S #{EA%0.04ppm L _E0.06ppm L T D HE 0 0 0 0 0 0 0 0 0 0 0 0 0

EE] ARAIEAR 30 31 30 31 29 30 31 30 31 31 28 31 363
2 B RS 717 741 716 740 709 714 740 716 737 741 668 740 8679
SE51E(ppm) 0.003 0.003 0.003 0.003 0.003 0.002 0.004 0.005 0.006 0.007 0.005 0.004 0.004
1B 1 E D &= 5 (B (ppm) 0.016 0.017 0.013 0.010 0.014 0.011 0.016 0.023 0.031 0.034 0.026 0.024 0.034
B FH{ED RS E(ppm) 0.006 0.009 0.005 0.005 0.004 0.006 0.007 0.011 0.015 0.016 0.009 0.010 0.016]
1B¥RAEHY0.20pmZ B 2 1= BERAZK 0 0 0 0 0 0 0 0 0 0 0 0 0
1B RA{EAY0.1ppm L E0.20pm LA T D BERASK 0 0 0 0 0 0 0 0 0 0 0 0 0
B FH{EA%.060pmZEHE A - HE 0 0 0 0 0 0 0 0 0 0 0 0 0
H S ${EA%0.04ppm L _E0.06ppm L T D HE 0 0 0 0 0 0 0 0 0 0 0 0 0

SEEN AREIEBA 30 31 30 31 31 29 31 30 29 31 28 31 362
I 7E B RS 717 741 716 740 740 711 740 716 728 740 666 739 8694
SE5TE(ppm) 0.003 0.003 0.002 0.003 0.002 0.003 0.004 0.007 0.008 0.012 0.011 0.005 0.005]
1B R E D &= 5 (B (ppm) 0.015 0.011 0.006 0.011 0.007 0.007 0.016 0.033 0.030 0.049 0.052 0.033 0.052]
B FH{ED RS E(ppm) 0.005 0.006 0.004 0.005 0.003 0.004 0.008 0.016 0.017 0.037 0.026 0.015 0.037
1BRAEHY0.20pmZ B Z 1= BERAZK 0 0 0 0 0 0 0 0 0 0 0 0 0
1B RA{EAY0.1ppm L E0.20pm LA T D BERASK 0 0 0 0 0 0 0 0 0 0 0 0 0
B FHfEA%.060pmZEHE A = HE 0 0 0 0 0 0 0 0 0 0 0 0 0
H S $5{EA%0.04ppm L _E0.06ppm L T D H 0 0 0 0 0 0 0 0 0 0 0 0 0

Frith AREIEAR 30 31 30 31 29 30 31 30 31 31 28 31 363
72 B RS 716 742 716 740 712 717 740 717 738 741 667 740 8686
SE5TE(ppm) 0.003 0.003 0.003 0.003 0.003 0.002 0.003 0.003 0.003 0.003 0.003 0.004 0.003]
1B R E D &= 5 (B (ppm) 0.018 0.027 0.011 0.013 0.020 0.011 0.018 0.015 0.012 0.016 0.026 0.018 0.027
B FH{ED R E(ppm) 0.006 0.007 0.005 0.005 0.007 0.004 0.005 0.008 0.007 0.009 0.009 0.007 0.009)
1BRAEHY0.2ppmZ B 2 1= BERAZK 0 0 0 0 0 0 0 0 0 0 0 0 0
1B RA{EAY0.1ppm L E0.20pm LA T D BERASK 0 0 0 0 0 0 0 0 0 0 0 0 0
B FH{EA%.060pmZEHE A - HE 0 0 0 0 0 0 0 0 0 0 0 0 0
H S ${EA%0.04ppm L _E0.06ppm L T D HE 0 0 0 0 0 0 0 0 0 0 0 0 0

HE AREIEAR 30 31 30 31 29 30 31 30 31 30 28 31 362
72 B RS 716 740 716 741 715 716 740 717 739 735 667 740 8682
SE5TE(ppm) 0.003 0.003 0.003 0.003 0.003 0.002 0.003 0.004 0.005 0.005 0.005 0.005 0.004
1B 1 E D &= 5 (B (ppm) 0.012 0.012 0.016 0.014 0.010 0.010 0.012 0.020 0.022 0.027 0.025 0.020 0.027
B FH{EDH & E(ppm) 0.006 0.007 0.005 0.006 0.004 0.004 0.006 0.011 0.011 0.012 0.011 0.013 0.013]
1BRAEHY0.20pmZ B Z 1= BERAZK 0 0 0 0 0 0 0 0 0 0 0 0 0
1BERA{EAY0.1ppm L _E0.20pm LA T D BERASK 0 0 0 0 0 0 0 0 0 0 0 0 0
B FEH{EA%.060pmZEHE A - HE 0 0 0 0 0 0 0 0 0 0 0 0 0
B S #5{EA%0.04ppm L E0.06ppm L T D H 0 0 0 0 0 0 0 0 0 0 0 0 0




HE AMESH AN

20204

RIEEE: NO,
AR =] 48 5H 68 718 8H 9A 108 118 128 1A 28 3H R

[RET ARAIEAR 30 31 30 31 31 28 31 30 31 31 28 31 363
I 7E B R 716 741 716 740 741 692 740 716 739 739 667 740 8687
5 fE(pm) 0.003 0.003 0.003 0.003 0.003 0.002 0.004 0.004 0.004 0.005 0.004 0.004 0.004
1B E D &= 5 (B (ppm) 0.012 0.013 0.013 0.013 0.007 0.007 0.016 0.020 0.022 0.028 0.023 0.016 0.028]
B F 5 {ED RS E(ppm) 0.006 0.007 0.006 0.006 0.004 0.004 0.006 0.011 0.010 0.012 0.011 0.009 0.012]
1BRAEHY0.20pmZ B % 1= BERAZK 0 0 0 0 0 0 0 0 0 0 0 0 0
1B {EAY0.1ppm L E0.2ppm LA T D BERE 5K 0 0 0 0 0 0 0 0 0 0 0 0 0
B FHfEA%0.060pmZEHE A - HE 0 0 0 0 0 0 0 0 0 0 0 0 0
H S #{EA%0.04ppm L _E0.06ppm L T D HE 0 0 0 0 0 0 0 0 0 0 0 0 0

[CES ARAIEAR 30 31 30 31 28 30 31 30 31 31 28 31 362
I 7E B R 716 742 715 740 689 716 738 715 738 733 666 740 8648
5 fE(pm) 0.003 0.003 0.003 0.004 0.003 0.003 0.003 0.005 0.005 0.004 0.004 0.004 0.004
1B 1 E D &= 5 (B (ppm) 0.016 0.014 0.012 0.016 0.011 0.014 0.014 0.020 0.026 0.026 0.026 0.022 0.026]
B FH{ED RS E(ppm) 0.008 0.009 0.005 0.007 0.006 0.007 0.005 0.010 0.012 0.011 0.009 0.011 0.012]
1B¥RAEHY0.20pmZ B 2 1= BERAZK 0 0 0 0 0 0 0 0 0 0 0 0 0
1B {EAY0.1ppm L E0.20pm LA T D BERTEK 0 0 0 0 0 0 0 0 0 0 0 0 0
B FH{EA%.060pmZEHE A - HE 0 0 0 0 0 0 0 0 0 0 0 0 0
H S ${EA%0.04ppm L _E0.06ppm L T D HE 0 0 0 0 0 0 0 0 0 0 0 0 0

L% AREIEBA 30 31 30 31 29 30 31 30 31 31 28 31 363
I 7E B R 716 741 714 740 711 713 739 716 741 739 667 740 8677
5 fE(pm) 0.003 0.003 0.003 0.004 0.003 0.002 0.002 0.003 0.002 0.002 0.002 0.003 0.003]
1B R E D &= 5 (B (ppm) 0.012 0.014 0.012 0.014 0.011 0.014 0.013 0.012 0.015 0.013 0.021 0.012 0.021
B FH{ED RS E(ppm) 0.005 0.007 0.005 0.007 0.005 0.006 0.004 0.007 0.007 0.006 0.006 0.008 0.008]
1BRAEHY0.20pmZ B Z 1= BERAZK 0 0 0 0 0 0 0 0 0 0 0 0 0
1BFR{EAY0.1ppm L E0.2ppm LA T D BEREEK 0 0 0 0 0 0 0 0 0 0 0 0 0
B FHfEA%.060pmZEHE A = HE 0 0 0 0 0 0 0 0 0 0 0 0 0
H S $5{EA%0.04ppm L _E0.06ppm L T D H 0 0 0 0 0 0 0 0 0 0 0 0 0

@ AREIEAR 30 31 30 31 31 30 31 30 31 31 28 31 365)
I 7E B R 714 738 713 728 735 711 735 714 738 737 666 738 8667
EfE(pm) 0.005 0.005 0.005 0.005 0.004 0.004 0.006 0.007 0.008 0.008 0.008 0.007 0.006]
1B R E D &= 5 (B (ppm) 0.017 0.024 0.022 0.017 0.012 0.014 0.022 0.024 0.021 0.023 0.027 0.022 0.027
B FH{ED R E(ppm) 0.008 0.010 0.008 0.009 0.006 0.006 0.010 0.009 0.013 0.012 0.011 0.011 0.013]
1BRAEHY0.2ppmZ B 2 1= BERAZK 0 0 0 0 0 0 0 0 0 0 0 0 0
1B {EAY0.1ppm L E0.20pm LA T D BERTEK 0 0 0 0 0 0 0 0 0 0 0 0 0
B FH{EA%.060pmZEHE A - HE 0 0 0 0 0 0 0 0 0 0 0 0 0
H S ${EA%0.04ppm L _E0.06ppm L T D HE 0 0 0 0 0 0 0 0 0 0 0 0 0

BT AREIEAR 30 31 30 30 31 30 31 30 31 31 28 31 364
I 7E B R 713 736 713 727 738 709 736 713 738 736 665 738 8662,
5 fE(pm) 0.002 0.003 0.004 0.004 0.003 0.002 0.002 0.002 0.002 0.003 0.003 0.003 0.003]
1B 1 E D &= 5 (B (ppm) 0.015 0.019 0.024 0.023 0.013 0.013 0.012 0.014 0.019 0.018 0.019 0.014 0.024
B FH{EDH & E(ppm) 0.004 0.006 0.008 0.009 0.005 0.005 0.005 0.005 0.007 0.005 0.006 0.007 0.009)
1BRAEHY0.20pmZ B Z 1= BERAZK 0 0 0 0 0 0 0 0 0 0 0 0 0
1B {EAY0.1ppm L E0.20pm LA T D BERTEK 0 0 0 0 0 0 0 0 0 0 0 0 0
B FEH{EA%.060pmZEHE A - HE 0 0 0 0 0 0 0 0 0 0 0 0 0
B S #5{EA%0.04ppm L E0.06ppm L T D H 0 0 0 0 0 0 0 0 0 0 0 0 0




HE AMESH AN

20204

RIEEE: NO,
AR 5H 45 58 68 78 8H 98 108 118 128 18 28 3H R

pE ARAIEAR 30 31 30 31 31 30 30 30 30 31 28 16 348
2 B RS 711 737 713 733 738 712 728 714 731 738 665 400 8320
5 1E(ppm) 0.005 0.006 0.006 0.006 0.006 0.003 0.005 0.007 0.009 0.008 0.008 0.007 0.006
1B E D &= 5 (B (ppm) 0.025 0.029 0.020 0.028 0.024 0.023 0.019 0.026 0.035 0.038 0.030 0.042 0.042
B F 5 {ED RS E(ppm) 0.012 0.013 0.010 0.015 0.012 0.010 0.010 0.015 0.020 0.021 0.016 0015 0.021
1BRAEHY0.20pmZ B % 1= BERAZK 0 0 0 0 0 0 0 0 0 0 0 0 0
1BERA{EAY0.1ppm L _E0.20pm LA T D BERASK 0 0 0 0 0 0 0 0 0 0 0 0 0
B FHfEA%0.060pmZEHE A - HE 0 0 0 0 0 0 0 0 0 0 0 0 0
H S #{EA%0.04ppm L _E0.06ppm L T D HE 0 0 0 0 0 0 0 0 0 0 0 0 0

Bt ARAIEAR 30 31 30 31 31 30 31 30 31 31 28 31 365
2 B RS 714 736 713 737 732 712 735 713 737 737 666 737 8669
SE51E(ppm) 0.003 0.003 0.004 0.004 0.004 0.002 0.002 0.004 0.004 0.004 0.004 0.004 0.004
1B 1 E D &= 5 (B (ppm) 0.013 0.019 0.011 0.018 0.014 0.011 0.013 0.023 0.027 0.026 0.020 0018 0.027
B FH{ED RS E(ppm) 0.005 0.008 0.006 0.008 0.007 0.005 0.005 0.010 0.013 0.010 0.009 0.011 0.013
1B¥RAEHY0.20pmZ B 2 1= BERAZK 0 0 0 0 0 0 0 0 0 0 0 0 0
1B RA{EAY0.1ppm L E0.20pm LA T D BERASK 0 0 0 0 0 0 0 0 0 0 0 0 0
B FH{EA%.060pmZEHE A - HE 0 0 0 0 0 0 0 0 0 0 0 0 0
H S ${EA%0.04ppm L _E0.06ppm L T D HE 0 0 0 0 0 0 0 0 0 0 0 0 0

fRE AREIEBA 30 31 30 31 31 30 31 30 31 31 28 31 365
I 7E B RS 714 737 714 730 738 712 735 714 738 737 666 738 8673
SE5TE(ppm) 0.004 0.004 0.003 0.004 0.003 0.002 0.003 0.005 0.006 0.005 0.005 0.004 0.004
1B R E D &= 5 (B (ppm) 0.017 0.016 0.020 0.018 0.016 0.013 0.013 0.019 0.034 0.032 0.030 0.026 0.034
B FH{ED RS E(ppm) 0.007 0.009 0.005 0.010 0.007 0.006 0.005 0.011 0.016 0.013 0.011 0012 0.016
1BRAEHY0.20pmZ B Z 1= BERAZK 0 0 0 0 0 0 0 0 0 0 0 0 0
1B RA{EAY0.1ppm L E0.20pm LA T D BERASK 0 0 0 0 0 0 0 0 0 0 0 0 0
B FHfEA%.060pmZEHE A = HE 0 0 0 0 0 0 0 0 0 0 0 0 0
H S $5{EA%0.04ppm L _E0.06ppm L T D H 0 0 0 0 0 0 0 0 0 0 0 0 0

5 AREIEAR 30 31 30 30 31 30 31 30 31 31 28 31 364
72 B RS 714 737 713 731 737 712 737 713 738 736 666 738 8672
SE5TE(ppm) 0.003 0.003 0.003 0.005 0.004 0.002 0.003 0.004 0.005 0.005 0.005 0.004 0.004
1B R E D &= 5 (B (ppm) 0.013 0.018 0.019 0.019 0.016 0.014 0.012 0.019 0.026 0.027 0.024 0.019 0.027
B FH{ED R E(ppm) 0.006 0.008 0.007 0.011 0.007 0.004 0.006 0.009 0.012 0.012 0.010 0.009 0.012
1BRAEHY0.2ppmZ B 2 1= BERAZK 0 0 0 0 0 0 0 0 0 0 0 0 0
1B RA{EAY0.1ppm L E0.20pm LA T D BERASK 0 0 0 0 0 0 0 0 0 0 0 0 0
B FH{EA%.060pmZEHE A - HE 0 0 0 0 0 0 0 0 0 0 0 0 0
H S ${EA%0.04ppm L _E0.06ppm L T D HE 0 0 0 0 0 0 0 0 0 0 0 0 0

mE AREIEAR 30 31 30 31 31 30 31 30 31 31 28 31 365
72 B RS 712 736 713 731 738 710 734 712 733 736 666 735 8656
SE5TE(ppm) 0.002 0.003 0.003 0.004 0.003 0.002 0.002 0.003 0.003 0.003 0.003 0.003 0.003
1B 1 E D &= 5 (B (ppm) 0.010 0.015 0.016 0.015 0.016 0.011 0.011 0.015 0.018 0.016 0.014 0014 0.018
B FH{EDH & E(ppm) 0.005 0.006 0.005 0.008 0.007 0.006 0.005 0.007 0.010 0.007 0.007 0.008 0.010
1BRAEHY0.20pmZ B Z 1= BERAZK 0 0 0 0 0 0 0 0 0 0 0 0 0
1BERA{EAY0.1ppm L _E0.20pm LA T D BERASK 0 0 0 0 0 0 0 0 0 0 0 0 0
B FEH{EA%.060pmZHE A - BE 0 0 0 0 0 0 0 0 0 0 0 0 0
H B A%0.04ppm ELE0.06ppm EL T O H 3% 0 0 0 0 0 0 0 0 0 0 0 0 0




HE AMESH AN

20204
BIEER: NO
RS =) =
HIER EH 4H 58 6H 78 8H 98 10H 118 12H 1A 2H 38 At
FEHET ABIEBR 30 31 30 29 31 30 31 30 31 31 28 31 363
B E B RS 717 739 709 729 738 717 741 716 742 742 667 742 8699
F 915 (ppm) 0.001 0.001 0.001 0.001 0.001 0.001 0.002 0.003 0.004 0.003 0.002 0.001 0.002
1B 1 IE D £ = {B (ppm) 0.009 0.005 0.005 0.008 0.011 0.010 0.020 0.035 0.043 0.054 0.023 0.016 0.054
B £ #1E D 5% = {E (ppm) 0.002 0.002 0.002 0.003 0.003 0.003 0.006 0.010 0.014 0.010 0.005 0.004 0.014]
#5 ABIEBR 30 31 28 31 31 30 31 30 31 31 27 31 362
B B RS 716 740 700 737 738 714 736 712 737 736 659 736 8661
F 915 (ppm) 0.001 0.001 0.001 0.001 0.001 0.001 0.002 0.002 0.003 0.002 0.001 0.001 0.001
1 B ] IE D 2= = {B (ppm) 0.007 0.004 0.006 0.008 0.007 0.009 0.016 0.026 0.033 0.039 0.021 0.013 0.039)
B £ #1E D 5 = {E (ppm) 0.002 0.002 0.002 0.002 0.002 0.002 0.006 0.008 0.012 0.009 0.004 0.003 0.012]
G ARIE B 28 28 28 31 31 25 — 4 31 31 28 31 296
B 7E B Rl 689 672 688 736 738 603 - 115 735 738 663 737 7114
F 915 (ppm) 0.002 0.000 0.000 0.000 0.000 0.000 - 0.004 0.002 0.002 0.001 0.000 0.001
1 B ] IE D £ = (B (ppm) 0.010 0.020 0.003 0.007 0.004 0.009 — 0.031 0.033 0.052 0.026 0.010 0.052]
B £ #1E D 5 = fE (ppm) 0.005 0.001 0.001 0.002 0.001 0.001 — 0.014 0.009 0.008 0.004 0.002 0.014
58 AAIE B 30 31 30 31 31 29 31 30 31 29 28 31 362
B B RS 711 734 711 735 734 689 736 712 733 688 663 734 8580
F 915 (ppm) 0.001 0.001 0.001 0.002 0.002 0.001 0.002 0.004 0.003 0.003 0.002 0.001 0.002
1 B ] IE D T = (B (ppm) 0.040 0.051 0.017 0.033 0.042 0.029 0.082 0.075 0.056 0.072 0.050 0.031 0.082]
B F #1E D 5 = fE (ppm) 0.006 0.009 0.003 0.009 0.005 0.008 0.012 0.011 0.012 0.012 0.011 0.006 0.012]
7T ABIE B 30 31 30 31 31 29 31 30 31 29 28 31 362
B B RS 711 735 708 735 736 687 735 713 734 686 665 733 8578
F 9B (ppm) 0.001 0.001 0.001 0.001 0.001 0.001 0.002 0.002 0.002 0.002 0.001 0.001 0.001
1 B ] IE D £ = (B (ppm) 0.020 0.031 0.062 0.028 0.054 0.027 0.046 0.057 0.054 0.056 0.021 0.032 0.062]
B #1E D 5 = fE (ppm) 0.002 0.003 0.005 0.004 0.004 0.004 0.007 0.011 0.012 0.010 0.003 0.004 0.012]
A ABIE B 30 31 30 31 29 30 31 30 31 31 28 31 363
B B RS 717 741 716 740 715 716 741 715 737 741 666 739 8684
F 9B (ppm) 0.001 0.001 0.001 0.001 0.001 0.001 0.002 0.002 0.002 0.002 0.001 0.001 0.001
1 B ] IE D £ = (B (ppm) 0.021 0.012 0.016 0.015 0.010 0.015 0.033 0.052 0.028 0.040 0.032 0.018 0.052]
B F #1E D 5 = {E (ppm) 0.003 0.002 0.004 0.004 0.002 0.003 0.005 0.013 0.008 0.009 0.004 0.004 0.013]
B ABIEB 30 31 30 31 29 30 31 30 31 31 28 31 363
I E B RS 717 741 716 740 709 714 740 716 737 741 668 740 8679
F 915 (ppm) 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.002 0.002 0.001 0.001 0.001
1 B 1 IE D T = (B (ppm) 0.004 0.004 0.004 0.013 0.007 0.007 0.019 0.016 0.024 0.027 0.015 0.009 0.027
B #1E D 5 = {E (ppm) 0.001 0.001 0.001 0.001 0.001 0.002 0.004 0.003 0.005 0.006 0.002 0.002 0.006]
SIEEW ABIEB 30 31 30 31 31 29 31 30 29 31 28 31 362
B 7E B Pl 717 741 716 740 740 711 740 716 728 740 666 739 8694
F #91E(ppm) 0.000 0.001 0.001 0.001 0.000 0.000 0.001 0.003 0.002 0.005 0.004 0.002 0.002
1B ] IE D £ = (B (ppm) 0.006 0.004 0.003 0.004 0.002 0.004 0.017 0.027 0.034 0.041 0.045 0.020 0.045]
B - #1E D 5 &= {E (ppm) 0.001 0.001 0.001 0.001 0.001 0.001 0.004 0.009 0.009 0.020 0.012 0.005 0.020)
it ABIEBR 30 31 30 31 29 30 31 30 31 31 28 31 363
B 7E B Rl 716 742 716 740 712 717 740 717 738 741 667 740 8686
F 5B (ppm) 0.000 0.000 0.001 0.001 0.001 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000
1B 1 IE D £ = (B (ppm) 0.004 0.003 0.004 0.008 0.004 0.004 0.005 0.004 0.006 0.011 0.006 0.004 0.011
B - #1E D 5 = {E (ppm) 0.001 0.001 0.001 0.002 0.002 0.001 0.001 0.001 0.001 0.002 0.001 0.001 0.002]
HE ABIEB 30 31 30 31 29 30 31 30 31 30 28 31 362
8 7E B Rl 716 740 716 741 715 716 740 717 739 735 667 740 8682
F 915 (ppm) 0.000 0.000 0.001 0.001 0.000 0.000 0.000 0.001 0.001 0.001 0.001 0.000 0.001
1 B 1 IE D 2= = (B (ppm) 0.005 0.002 0.005 0.007 0.004 0.006 0.006 0.018 0.019 0.020 0.015 0.007 0.020]
B - #1E D 5 = {E (ppm) 0.001 0.001 0.001 0.003 0.001 0.001 0.001 0.003 0.004 0.003 0.002 0.002 0.004




HE AMESH AN

20204
BIEER: NO
RS =) =
HIER EH 4H 58 6H 78 8H 98 10H 118 12H 1A 2H 38 At
JRET ABIEBR 30 31 30 31 31 28 31 30 31 31 28 31 363
B E B RS 716 741 716 740 741 692 740 716 739 739 667 740 8687
F 915 (ppm) 0.000 0.000 0.001 0.001 0.001 0.000 0.001 0.000 0.001 0.001 0.000 0.000 0.001
1B IE D 2= = {B (ppm) 0.003 0.003 0.005 0.010 0.004 0.003 0.016 0.014 0.020 0.025 0.011 0.005 0.025]
B £ #1E D 5 = {E (ppm) 0.001 0.001 0.001 0.004 0.002 0.001 0.003 0.002 0.003 0.003 0.002 0.001 0.004
[EES AhBIEB 30 31 30 31 28 30 31 30 31 31 28 31 362
I E B RS 716 742 715 740 689 716 738 715 738 733 666 740 8648
F 915 (ppm) 0.000 0.000 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.000 0.000 0.001
1B 1 IE D 2= = {B (ppm) 0.019 0.005 0.009 0.010 0.011 0.011 0.012 0.027 0.019 0.024 0.012 0.007 0.027
B £ #1E D 5 = {E (ppm) 0.002 0.001 0.002 0.004 0.002 0.004 0.003 0.005 0.003 0.003 0.002 0.002 0.005]
L% AhBIE B 30 31 30 31 29 30 31 30 31 31 28 31 363
B B RS 716 741 714 740 711 713 739 716 741 739 667 740 8677
F 915 (ppm) 0.000 0.000 0.000 0.001 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000
1 B ] IE D 2= = (B (ppm) 0.004 0.002 0.006 0.009 0.005 0.005 0.002 0.006 0.002 0.003 0.002 0.003 0.009)
B £ #1E D 5% = {E (ppm) 0.001 0.000 0.001 0.003 0.001 0.001 0.001 0.001 0.000 0.001 0.000 0.001 0.003]
) AAIE B 30 31 30 31 31 30 31 30 31 31 28 31 365
B B RS 714 738 713 728 735 711 735 714 738 737 666 738 8667
F 915 (ppm) 0.001 0.001 0.001 0.003 0.002 0.002 0.002 0.002 0.003 0.002 0.002 0.001 0.002
1B 1 IE D £ = (B (ppm) 0.008 0.010 0.017 0.027 0.013 0.013 0.017 0.021 0.020 0.023 0.012 0.016 0.027
B £ #1E D 5 = {E (ppm) 0.002 0.002 0.004 0.008 0.003 0.004 0.004 0.004 0.005 0.005 0.003 0.003 0.008]
EIT] ABIE B 30 31 30 30 31 30 31 30 31 31 28 31 364
B B RS 713 736 713 727 738 709 736 713 738 736 665 738 8662
F 95 (ppm) 0.000 0.000 0.001 0.002 0.002 0.002 0.001 0.001 0.001 0.001 0.001 0.001 0.001
1 B ] IE D £ = (B (ppm) 0.005 0.006 0.025 0.019 0.014 0.012 0.004 0.007 0.013 0.008 0.009 0.005 0.025]
B £ #1E D 5 = {E (ppm) 0.001 0.001 0.002 0.005 0.003 0.003 0.001 0.002 0.002 0.002 0.002 0.002 0.005]
PNV ABIE B 30 31 30 31 31 30 30 30 30 31 28 16 348
B B RS 711 737 713 733 738 712 728 714 731 738 665 400 8320
F 915 (ppm) 0.001 0.001 0.001 0.002 0.002 0.001 0.001 0.003 0.003 0.002 0.001 0.001 0.002
1B 1 IE D T = (B (ppm) 0.020 0.012 0.014 0.034 0.022 0.015 0.017 0.054 0.058 0.062 0.039 0.037 0.062]
B #1E D 5 = {E (ppm) 0.002 0.002 0.003 0.007 0.006 0.004 0.004 0.010 0.012 0.012 0.005 0.004 0.012]
Bt ABIEBR 30 31 30 31 31 30 31 30 31 31 28 31 365
B B RS 714 736 713 737 732 712 735 713 737 737 666 737 8669
F #91E(ppm) 0.000 0.000 0.001 0.001 0.002 0.001 0.001 0.001 0.002 0.002 0.001 0.001 0.001
1B 1 E D T = {B (ppm) 0.009 0.002 0.006 0.013 0.007 0.007 0.003 0.018 0.013 0.025 0.009 0.011 0.025]
B £ #1E D 5 = {E (ppm) 0.001 0.001 0.001 0.005 0.003 0.002 0.001 0.003 0.004 0.005 0.002 0.002 0.005]
fRE AAIE B 30 31 30 31 31 30 31 30 31 31 28 31 365
8 7E B Rl 714 737 714 730 738 712 735 714 738 737 666 738 8673
F #91E(ppm) 0.000 0.000 0.001 0.001 0.002 0.001 0.001 0.001 0.002 0.002 0.001 0.001 0.001
1 B ] IE D £ = {B (ppm) 0.005 0.004 0.007 0.016 0.014 0.010 0.005 0.027 0.023 0.026 0.012 0.012 0.027
B - #1E D 5 = {E (ppm) 0.001 0.001 0.002 0.004 0.004 0.003 0.002 0.005 0.004 0.004 0.002 0.002 0.005]
EES ABIEBR 30 31 30 30 31 30 31 30 31 31 28 31 364
B 7E B Rl 714 737 713 731 737 712 737 713 738 736 666 738 8672
F 95 (ppm) 0.000 0.000 0.001 0.002 0.001 0.001 0.001 0.001 0.002 0.002 0.001 0.001 0.001
1B 1 IE D 2= = (B (ppm) 0.007 0.006 0.011 0.018 0.012 0.010 0.012 0.023 0.044 0.029 0.017 0.021 0.044]
B £ #1E D 5 = fE (ppm) 0.001 0.001 0.003 0.006 0.002 0.002 0.001 0.004 0.005 0.005 0.003 0.002 0.006]
mE ABIEB 30 31 30 31 31 30 31 30 31 31 28 31 365
B 7E B Rl 712 736 713 731 738 710 734 712 733 736 666 735 8656
F #91E(ppm) 0.000 0.000 0.000 0.001 0.002 0.001 0.000 0.001 0.001 0.001 0.001 0.001 0.001
1EERIE D &= B (ppm) 0.004 0.006 0.008 0.010 0.031 0.007 0.007 0.009 0.010 0.015 0.004 0.007 0.031
B BED R =B (ppm) 0.001 0.001 0.001 0.003 0.004 0.002 0.001 0.002 0.002 0.003 0.001 0.002 0.004




HE AMESH AN

20204
BIEER: NOX
RS =) =
HIER EH 4H 58 6H 78 8H 98 10H 118 12H 1A 2H 38 At
FaHET ABIEBR 30 31 30 29 31 30 31 30 31 31 28 31 363
B E B RS 717 739 709 729 738 717 741 716 742 742 667 742 8699
F 915 (ppm) 0.006 0.006 0.005 0.006 0.006 0.005 0.009 0.011 0.014 0.013 0.009 0.009 0.008
1B 1 IE D £ = {B (ppm) 0.025 0.023 0.015 0.017 0.018 0.017 0.036 0.051 0.061 0.095 0.048 0.037 0.095]
B £ #1E D 5 5 fE (ppm) 0.012 0.012 0.009 0.010 0.010 0.009 0.016 0.024 0.036 0.030 0.020 0.021 0.036]
FEHENO2/(NO+NO2)(%) 89.2 89.3 87.3 83.4 80.7 83.6 80.4 715 74.4 78.9 83.5 86.4 82.9)
#5 AhBIE B 30 31 28 31 31 30 31 30 31 31 27 31 362
B E B RS 716 740 700 737 738 714 736 712 737 736 659 736 8661
F 915 (ppm) 0.005 0.005 0.005 0.004 0.004 0.004 0.008 0.009 0.012 0.011 0.008 0.007 0.007
1B 1 IE D 2= = {B (ppm) 0.022 0.020 0.015 0.018 0.016 0.016 0.028 0.039 0.057 0.061 0.046 0.033 0.061
B £ #1E D 5 = {E (ppm) 0.012 0.012 0.009 0.008 0.006 0.008 0.016 0.021 0.036 0.029 0.019 0.018 0.036)
FEHENO2/(NO+NO2)(%) 82.4 80.0 80.1 81.8 79.9 81.8 80.2 78.8 78.1 82.1 85.2 88.0 81.5)
B ABIE B 28 28 28 31 31 25 — 4 31 31 28 31 296
B 7E B Pl 689 672 688 736 738 603 - 115 735 738 663 737 7114
F 915 (ppm) 0.005 0.003 0.003 0.003 0.003 0.003 - 0.010 0.010 0.009 0.006 0.005 0.005
1 B ] IE D 2= = (B (ppm) 0.022 0.030 0.010 0.015 0.010 0.013 — 0.044 0.059 0.077 0.045 0.026 0.077
B #5155 = {E (ppm) 0.012 0.010 0.005 0.007 0.005 0.005 — 0.021 0.030 0.026 0.015 0.013 0.030)
FENO2/(NO+NO2)(%) 60.4 97.0 93.2 88.5 90.1 90.4 - 60.0 81.1 83.0 89.0 91.3 84.0
8 ABIE B 30 31 30 31 31 29 31 30 31 29 28 31 362
B B RS 711 734 711 735 734 689 736 712 733 688 663 734 8580
F 9B (ppm) 0.007 0.006 0.007 0.008 0.007 0.006 0.009 0.013 0.013 0.013 0.011 0.009 0.009
1 B 1 IE D £ = (B (ppm) 0.077 0.094 0.056 0.049 0.067 0.042 0.098 0.129 0.083 0.091 0.095 0.063 0.129)
B - #1E D 5 = {E (ppm) 0.019 0.027 0.013 0.015 0.013 0.017 0.023 0.027 0.030 0.031 0.032 0.023 0.032]
FENO2/(NO+NO2)(%) 83.0 86.0 84.2 71.9 74.1 78.8 73.6 71.1 73.0 77.1 78.8 835 77.9)
2T ABIE B 30 31 30 31 31 29 31 30 31 29 28 31 362
B B RS 711 735 708 735 736 687 735 713 734 686 665 733 8578
F 95 (ppm) 0.006 0.005 0.006 0.006 0.006 0.006 0.009 0.009 0.010 0.011 0.008 0.007 0.007
1 B ] IE D T = 1B (ppm) 0.046 0.054 0.101 0.044 0.067 0.046 0.067 0.076 0.087 0.102 0.043 0.053 0.102]
B #1E D 5 = {E (ppm) 0.013 0.015 0.014 0.010 0.011 0.011 0.024 0.026 0.027 0.028 0.016 0.019 0.028]
FEHENO2/(NO+NO2)(%) 87.6 88.1 84.4 80.4 80.7 83.0 79.0 75.4 76.8 79.3 84.1 86.1 82.1
A ARIE B 30 31 30 31 29 30 31 30 31 31 28 31 363
B E B RS 717 741 716 740 715 716 741 715 737 741 666 739 8684
F 95 (ppm) 0.005 0.005 0.006 0.006 0.004 0.006 0.008 0.008 0.010 0.010 0.008 0.007 0.007
1 B 1 IE D T = 1B (ppm) 0.032 0.040 0.038 0.044 0.022 0.030 0.052 0.065 0.048 0.065 0.059 0.045 0.065]
B #1E D 5 = fE (ppm) 0.010 0.010 0.015 0.013 0.009 0.011 0.016 0.025 0.021 0.024 0.016 0.015 0.025]
FENO2/(NO+NO2)(%) 86.5 90.1 84.4 78.6 81.0 78.8 78.0 75.9 774 79.9 83.9 87.2 81.8
B AhBIE B 30 31 30 31 29 30 31 30 31 31 28 31 363
B E B RS 717 741 716 740 709 714 740 716 737 741 668 740 8679
F 45 (ppm) 0.004 0.004 0.003 0.004 0.003 0.004 0.005 0.006 0.008 0.008 0.006 0.004 0.005
1B ] IE D £ = {B (ppm) 0.017 0.018 0.014 0.023 0.015 0.013 0.030 0.030 0.046 0.059 0.037 0.026 0.059)
B £ #1E D 5 = {E (ppm) 0.007 0.010 0.006 0.007 0.005 0.008 0.011 0.014 0.020 0.020 0.011 0.011 0.020]
FEHENO2/(NO+NO2)(%) 80.2 74.1 81.5 82.6 79.6 61.7 79.4 83.9 78.8 78.1 825 82.3 787
SIEEN AhBIEB 30 31 30 31 31 29 31 30 29 31 28 31 362
8 7E B Rl 717 741 716 740 740 711 740 716 728 740 666 739 8694
F 45 (ppm) 0.004 0.004 0.003 0.003 0.003 0.003 0.005 0.010 0.010 0.016 0.015 0.007 0.007
1B 1 IE D £ = (B (ppm) 0.016 0.015 0.009 0.013 0.008 0.009 0.027 0.054 0.056 0.080 0.086 0.053 0.086)
B £ #1E 5 = {E (ppm) 0.006 0.007 0.005 0.006 0.004 0.004 0.012 0.025 0.025 0.057 0.036 0.019 0.057
FENO2/(NO+NO2)(%) 86.5 70.8 79.3 81.7 88.0 88.1 82.6 71.1 79.1 715 729 718 78.6)
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BIEER: NOX
RS =) =
HIER EH 4H 58 6H 78 8H 98 10H 118 12H 1A 2H 38 At
it ABIEBR 30 31 30 31 29 30 31 30 31 31 28 31 363
B E B RS 716 742 716 740 712 717 740 717 738 741 667 740 8686
F 915 (ppm) 0.003 0.004 0.004 0.004 0.004 0.003 0.003 0.003 0.003 0.004 0.003 0.004 0.004
1B IE D 2= = {B (ppm) 0.022 0.029 0.014 0.015 0.022 0.012 0.023 0.016 0.018 0.027 0.031 0.018 0.031
B #5155 = fE (ppm) 0.007 0.007 0.006 0.007 0.008 0.005 0.005 0.009 0.008 0.011 0.010 0.008 0.011
FENO2/(NO+NO2)(%) 93.4 91.0 83.7 79.1 77.1 87.6 925 924 94.0 92.4 93.1 93.2 89.1
HE AhBIE B 30 31 30 31 29 30 31 30 31 30 28 31 362
B E B RS 716 740 716 741 715 716 740 717 739 735 667 740 8682
F 95 (ppm) 0.003 0.004 0.004 0.004 0.003 0.002 0.003 0.005 0.006 0.006 0.005 0.005 0.004
1 B ] fIE D 2= = {B (ppm) 0.015 0.013 0.018 0.015 0.014 0.016 0.016 0.029 0.038 0.040 0.038 0.025 0.040)
B #1E D 5 = fE (ppm) 0.007 0.007 0.006 0.008 0.005 0.005 0.006 0.013 0.015 0.015 0.012 0.014 0.015]
FEHENO2/(NO+NO2)(%) 929 88.4 81.6 78.4 84.2 89.4 91.3 87.4 86.2 86.9 90.1 92.3 87.4
JRET ABIEBR 30 31 30 31 31 28 31 30 31 31 28 31 363
B E B RS 716 741 716 740 741 692 740 716 739 739 667 740 8687
F 915 (ppm) 0.003 0.003 0.004 0.004 0.004 0.003 0.004 0.005 0.005 0.005 0.004 0.004 0.004
1B 1 IE D 2= = (B (ppm) 0.013 0.014 0.014 0.019 0.011 0.009 0.032 0.026 0.042 0.047 0.034 0.018 0.047
B #1E D 5 = {E (ppm) 0.006 0.008 0.008 0.011 0.006 0.004 0.008 0.013 0.013 0.014 0.013 0.010 0.014
FHENO2/(NO+NO2)(%) 95.1 91.2 85.0 80.2 772 89.8 87.8 90.6 89.6 89.0 932 937 88.5)
(RS AAIE B 30 31 30 31 28 30 31 30 31 31 28 31 362
B B RS 716 742 715 740 689 716 738 715 738 733 666 740 8648
F 915 (ppm) 0.004 0.004 0.004 0.005 0.004 0.004 0.004 0.006 0.006 0.005 0.005 0.005 0.005
1 B ] IE D 2= = (B (ppm) 0.033 0.019 0.015 0.018 0.015 0.016 0.020 0.040 0.036 0.043 0.034 0.029 0.043]
B #1E D 5 = {E (ppm) 0.010 0.010 0.006 0.009 0.007 0.008 0.007 0.012 0.015 0.014 0.012 0.012 0.015]
FEENO2/(NO+NO2)(%) 91.4 89.7 79.1 771 79.2 74.0 778 80.6 81.9 86.6 90.6 93.2 83.5)
L% ABIEB 30 31 30 31 29 30 31 30 31 31 28 31 363
B B RS 716 741 714 740 711 713 739 716 741 739 667 740 8677
F 915 (ppm) 0.003 0.003 0.003 0.005 0.004 0.002 0.002 0.003 0.002 0.002 0.002 0.003 0.003
1 B ] IE D £ = (B (ppm) 0.015 0.015 0.013 0.016 0.012 0.016 0.014 0.015 0.015 0.014 0.023 0.015 0.023]
B £ #1E D 5 = {E (ppm) 0.005 0.007 0.005 0.009 0.006 0.007 0.004 0.007 0.008 0.006 0.006 0.008 0.009)
FHENO2/(NO+NO2)(%) 94.9 94.9 90.6 81.0 87.8 91.3 97.2 96.8 97.7 95.9 975 96.3 935
T ABIEBR 30 31 30 31 31 30 31 30 31 31 28 31 365
B B RS 714 738 713 728 735 711 735 714 738 737 666 738 8667
F #91E(ppm) 0.006 0.006 0.006 0.008 0.006 0.006 0.008 0.009 0.010 0.010 0.010 0.008 0.008
1B 1 E D T = {B (ppm) 0.023 0.032 0.033 0.037 0.021 0.022 0.037 0.041 0.036 0.042 0.037 0.037 0.042]
B #4155 = {E (ppm) 0.009 0.011 0.013 0.017 0.008 0.009 0.013 0.012 0.016 0.017 0.015 0.012 0.017
FHENO2/(NO+NO2)(%) 90.6 87.7 80.3 65.7 64.9 72.8 774 74.0 73.7 76.6 81.2 83.7 774
EIT] ABIEB 30 31 30 30 31 30 31 30 31 31 28 31 364
B 7E B Rl 713 736 713 727 738 709 736 713 738 736 665 738 8662
F 915 (ppm) 0.003 0.003 0.004 0.006 0.005 0.004 0.003 0.004 0.004 0.004 0.004 0.004 0.004
1B ] IE D 2= = (B (ppm) 0.017 0.024 0.047 0.039 0.022 0.023 0.013 0.019 0.032 0.026 0.027 0.016 0.047
B #1E D 5 = {E (ppm) 0.005 0.006 0.009 0.015 0.007 0.007 0.006 0.007 0.009 0.007 0.008 0.009 0.015]
FENO2/(NO+NO2)(%) 86.4 91.1 85.1 70.1 60.4 55.9 59.3 60.6 62.0 74.6 67.6 65.9 69.9)
PNV AhBIEB 30 31 30 31 31 30 30 30 30 31 28 16 348
8 7E B Rl 711 737 713 733 738 712 728 714 731 738 665 400 8320
F 95 (ppm) 0.006 0.007 0.007 0.009 0.007 0.004 0.006 0.010 0.012 0.010 0.009 0.008 0.008
1B 1 IE D 2= = (B (ppm) 0.042 0.040 0.032 0.049 0.034 0.027 0.030 0.068 0.078 0.093 0.060 0.063 0.093]
B £ #1E D 5 = fE (ppm) 0.013 0.015 0.013 0.020 0.014 0.013 0.013 0.024 0.031 0.030 0.020 0.019 0.031
FEENO2/(NO+NO2)(%) 89.1 91.3 85.8 73.3 79.2 78.5 84.6 73.1 727 76.1 85.6 83.8 81.1
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BIEER: NOX
A 15 B
AER B 47 5H 68 7H 8H 9H 10H 11H 12H 1H 2H 38 REt

Bt ABIEBR 30 31 30 31 31 30 31 30 31 31 28 31 365
B E B RS 714 736 713 737 732 712 735 713 737 737 666 737 8669
F 915 (ppm) 0.003 0.004 0.004 0.006 0.006 0.003 0.003 0.005 0.006 0.005 0.005 0.005 0.005
1B IE D 2= = {B (ppm) 0.021 0.021 0.014 0.020 0.017 0.018 0.015 0.027 0.030 0.046 0.029 0.029 0.046]
B #5155 = fE (ppm) 0.005 0.009 0.007 0.011 0.009 0.007 0.006 0.013 0.016 0.013 0.011 0.013 0.016]
FENO2/(NO+NO2)(%) 95.1 91.8 85.4 75.1 72.7 67.1 71.2 75.4 749 72.2 75.3 76.3 777

fRE AhBIE B 30 31 30 31 31 30 31 30 31 31 28 31 365
B E B RS 714 737 714 730 738 712 735 714 738 737 666 738 8673
F 95 (ppm) 0.004 0.004 0.003 0.005 0.005 0.003 0.003 0.006 0.007 0.007 0.006 0.005 0.005
1 B ] fIE D 2= = {B (ppm) 0.022 0.018 0.021 0.026 0.025 0.021 0.017 0.039 0.048 0.053 0.034 0.029 0.053]
B #1E D 5 = fE (ppm) 0.008 0.010 0.006 0.013 0.009 0.008 0.007 0.014 0.019 0.016 0.012 0.014 0.019)
FEHENO2/(NO+NO2)(%) 93.1 92.6 83.6 74.0 68.5 69.0 79.8 76.1 75.0 75.6 78.4 76.8 785

EES ABIEBR 30 31 30 30 31 30 31 30 31 31 28 31 364
B E B RS 714 737 713 731 737 712 737 713 738 736 666 738 8672
F 915 (ppm) 0.003 0.004 0.004 0.007 0.005 0.003 0.004 0.006 0.007 0.007 0.006 0.005 0.005
1B 1 IE D 2= = (B (ppm) 0.019 0.022 0.026 0.037 0.023 0.021 0.022 0.037 0.070 0.054 0.036 0.034 0.070]
B #1E D 5 = {E (ppm) 0.006 0.009 0.009 0.015 0.009 0.006 0.007 0.013 0.017 0.015 0.012 0.011 0.017
FHENO2/(NO+NO2)(%) 89.7 90.1 83.5 70.8 72.1 65.4 84.3 76.7 735 72.6 76.6 76.3 77.6)

mE AAIE B 30 31 30 31 31 30 31 30 31 31 28 31 365
B B RS 712 736 713 731 738 710 734 712 733 736 666 735 8656
F 915 (ppm) 0.002 0.003 0.003 0.005 0.005 0.003 0.003 0.004 0.004 0.004 0.004 0.004 0.004
1 B ] IE D 2= = (B (ppm) 0.011 0.021 0.017 0.017 0.042 0.015 0.013 0.020 0.023 0.028 0.015 0.020 0.042]
B 3 #1E D 5% &= {E (ppm) 0.005 0.007 0.006 0.010 0.009 0.007 0.005 0.008 0.013 0.009 0.009 0.009 0.013]
SEFTENO2/(NO+NO2)(%) 922 91.6 87.0 738 66.8 78.3 88.0 83.2 79.9 774 77.9 79.2 31.3|
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